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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / '\qzjﬁl' & fory e | dfdb (HusH)
gare?

1. Short term memory /ﬁﬂ-@?ﬂ:{ F:jﬁf
2. Long term memory / A E] Fﬂﬁ[
3. Sensory register /ﬂ.aa TR

4, Working memory / T Fﬂﬁ[ (dlr;ﬂl ﬁiﬂﬁ)

Correct Answer :-

« Short term memory /FI@-W Fﬂﬁf

2) An anxiety disorder is characterized by :/ Y fiar faer @1 favivar %:

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Tdh

3 a1 Iafora Rufd S f amgiest, ififEdar sk v &t HraHsii &t fawdr g1
2. Disordered thinking / ﬁ% LRI

3. An emotional condition classified by excessive checking/ M i g}l d‘ﬁq?d Udh HIIATHD

fRufer|
4, An emotional state identified by panic attacks / ofs 3¢ CERES Th HIgTHS U |

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Tdh

3 a1 Iaford Rufa o fs ameiest, ifRifEaar sk v &t HraHsii &t fawdr 31

3) A devoted teacher would adopt to arouse interest of the learners. /| Th gHfda

Rrere ot Rrendf 9t =y s & fag D YT T
1. Demonstrative methods / EI_Q"QT:T fafdr



2. Innovative methods / ararsy fafer
3. Easy methods / 3T fafer

4, Direct methods / UI& fafer

Correct Answer :-

 Innovative methods / TaraRt fafer

4) variations in social values can be attributed to: / G IENED W i | dqdid G| W m
iR ST &1 9T 3:

1. Reducing inequality / SHHTdT DI HH HIAT
2. Social change / AT aRacdH
3. Social mobility / T TTCTRATeTd

4. Transmission of culture / Wﬁf BT HRT

Correct Answer :-

« Social change / TATRST®S TREH

5) According to the view of ,-a schema includes both a category of knowledge
and the process of obtaining that knowledge. / & E@H’ﬁm & SR, Th THHT
H 9 @t TP 2oft 3R 39 J1H DI Ui e D1 ufshar g1 i g

1. Jean Piaget /\_Sﬁ:f RIS

2. Erik Erikson 7 UR® SRBAT
3. Jerome Bruner / SIIH] g

4, Sigmund Freud / s wias

Correct Answer :-

« Jean Piaget /Gﬁ:fﬁ'ql@f

6) Teachers have to deal with of learners. / ﬁT&Wﬁ' 3| QT&‘IT Af #1 &> 91y
S ST Usar gl

1. Inclusivity / AR
2. Diversity / fafaerar

3. Diverge /ﬁ?l?l:f

4. Giftedness / IR

Correct Answer :-



« Diversity / fafaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child ./

?wwaﬁ%maﬁumﬁam%ﬂﬁ?wﬁﬁ_ A T&¥ gTdT
|

1. to practice similar things again and again / HHIH ISl BT TR-TR T HIA
2. to be more disciplined / 31T¥& \’rla'-‘flﬁﬁ g

3. to do more class work and home work / 3{TY® HeT BT (el dcf?) 3R ‘TG'—W (Eﬁ'q W)
DAl

4. to listen and engage in learning / e | g1 3R LRl

Correct Answer :-

« to listen and engage in learning / 31TERTH A g 3R X &

8) John uses clinical interviews in his class to know the problems of students. This shows his

role as a /Gﬁ%ram=ﬁ$&nﬁ?m‘rﬁmeﬁaﬁﬁﬂﬁﬁ?ﬁmﬁaﬁ$m&m
FISTNTHIATE | e SAPI YAPTH __ FudAexiars!

1. Co-learner/ ﬂ?—ﬁ‘f&ﬂzﬁ

2. Negotiator/aT(_‘IW

3. Classroom researcher / D&l 3N H
4. Facilitator / ufRrers

Correct Answer :-

« Classroom researcher / D&l 3fAY®H

9) Who proposed language and thought to be independent? / = ywarfad foear fos yran
3R foaR WA gl 32

1. Vygotsky / a@ﬂ?ﬂﬁ
2. Piaget / oot

3. Kohler/w
4. Chomsky / AIERDY

Correct Answer :-

o Chomsky / DT



10) Assessment for learning involves / SMfERTH & Sfidad A MAT 8

1. sharing exemplars at different levels of success according to certain criteria / & nl:la'él%

STIR T adl & fAfid TRi IR IEeRUN o HIl Al

2. providing grades or marks against students work/@lﬁ%ﬁlﬁ%m%m 3[d UaE
DAl

3. summative use of formative assessment / AT Jj\c'qicb"l BT ANTHD U]

4, use of tests and exams/Qng&‘FUT aﬁwﬂ&nww

Correct Answer :-

« sharing exemplars at different levels of success according to certain criteria / P& Ocsl &

STIR Y adT & fAfUH TRT IR 3TN B! I D=l

11) Which of the following is not a teaching skill in inclusive education? frafafead

DI AT Rrem & T Rreor oiwra 981 82
1. Blackboard /@W@f

2. Questioning / Y5 dI®d
3. Problem solving / JHIT JHTYTT

4. Reinforcing / g<e Ul Udcld

Correct Answer :-

« Blackboard / SAElS

12) When children learn to be aggressive because of exposure to violence in media, what type of

learning is being displayed? /Waﬁlﬂ%mﬁﬁwﬂ?wfr 3 & BRI Wm
HiEd g, @t fra goR &1 iR yefia giar 82

1. Classical learning / FAIHd HfTH

2. Media learning / Iﬂ'%tﬂ 3T

3. Exploratory learning / 3ragft sifenmy

4, Observational learning / faeayuTE® SifRTH

Correct Answer :-

 Observational learning / [EEGL IR ERCICIE]

13) Intelligence quotient is / g@ afer %
1. Chronological age/mental age x 100 / IRING Y / qHRIS S x 100



2. Chronological age x 100/ Mental age / RN S x 100 / R S
3. Mental age x 100/ Chronological age/rﬂ:lm ST x 100/ IRIRD S
4, Mental age/ Chronological age x 100 ) AR Sy / IRIRD S x 100

Correct Answer :-

« Mental age/ Chronological age x 100 / HTIIh S / QRN S x 100

14) Learning happens when the child observes someone. This learning is known as ./

eﬁm?aa@m%mwﬁaﬁmﬂﬁmélweﬁwaﬁ & Y H ST
STaT g |

1. Operant conditioning / m Sl
2. Trial and error learning / W-Z% 3T
3. Social learning / TS e

4. Insight learning / GFFE‘:@ IR pess

Correct Answer :-

« Social learning / THTIOIH S{TATH

15) Learners who have an earnest desire for academic competence are said to have a: /fﬁ'[&ﬁ?ﬁ\_rﬁ

Qe Fraar 3 T ifireh To6T W §, 3% el o1l &:
1. Performance avoidance orientation/ G GRER GWWUT
2. Performance approach orientation/ PENE KRG WUT
3. Work avoidance orientation/ @78 URER EFEL@WUT

4. Mastery orientation/ HeIRd WW\"UT

Correct Answer :-

« Mastery orientation/ HERd S HEIDHRUI

16) Several abilities put together is known as ./ a”_ﬁﬁ &S &1 Uh HIY IdT SITHT
FEAI G|

1. Intelligence / §@
2. Interests / F&Rﬁ

3. Attitude /Iltﬁ?{ﬁ[
4, Personality / Hfada



Correct Answer :-

 Intelligence / @@

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/ HITTH®

faera & Aadiies =R A fraq Su-TRUT gld 32
1. Seven / Td

2. Five /U™

3.Six/ 9:

4. Eight / 311

Correct Answer :-

e Six/9:

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian? /

fafuled 4 @ o4 te 9= 3 faaaomar 78 8, foras arar-Riar siRFAraeard
TR g2

1. Unfriendly / 3
2. Unsociable / QW

3. Independent / T

4. Withdrawn / \"rﬁﬂj@

Correct Answer :-
« Independent / ¥dF

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-
lasting relationships with adults outside their families through ./ faenera srdew & @1
Hreafie R & g 31 & HIEH ¥ 3T TRART & TMER TP & A1Y dd
HHY T g aTdt R 99 & e A sraeRi 3t srgafa dar gl

1. pleasure and happiness / 31 G 3R @ﬁ
2. hardship and responsibility / m 3R fSrert

3. reading and writing for academic excellence / I CAEC) Sl & m Yol 3R fera

4. independence, peer relationships, and leadership / ST, H‘s’%ﬁfﬂa’ﬂ 3R ef?‘j(‘_q'

Correct Answer :-

 independence, peer relationships, and leadership / ‘&d(‘i?ldl, NEE HTH._Q;?J GﬁT ﬁﬁa



20) John is a student who is naturally aware of his personal emotions, feelings and motivation.
According to Howard Gardner’s Theory of Multiple Intelligences, which of the following intelligence

does he demonstrate?/\_rﬁqug\_rﬁm R Waﬁ,waﬁ? TR 9
HIUTTAS FU T TTd 3| TS SR Dt AR AP A Iud Scloreis (THIUS I &
Rrgia) ¥ UR, 98 g ¥ A f5a gfow &) weRfa sear g2

1. Interpersonal intelligence/ 3{=dX 3 g g‘l'cal-l dl

2. Intrapersonal intelligence/ 3R] 3 gfddeh ‘S?I i:g dl
3. Visual-Spatial intelligence/ TR g@‘ﬁﬁ—ﬂ
4, Naturalistic intelligence/ LI IEED m?ﬂ

Correct Answer :-

)
)

« Intrapersonal intelligence/ 3R] 21 4

21) What is the purpose of learning according to Humanism? / HIFIddIdIq & IR ST BT

SR HE?

1. To ace the standardised tests / qﬂ?ﬂ% Qﬂ&‘m &I Uh=Y (Udd) B B f%nq
2. To fulfil one’s potential / Tl 1 &rmrar o1 PR B D ﬁ’l'q

3. To become employable / USRS T.% ﬁ‘lﬂ,

4. To achieve financial security / fa<itg Y& U1 & b ﬁ‘l'q

Correct Answer :-

« To fulfil one’s potential / [P T &HT Gal T & & ferg

22) What is the name of the disorder characterized by an inability to carry out basic mathematical

opergtions?/mmmﬁﬁmﬁmwmmﬁﬁmﬁw
HTg?

1. Dyslexia / %@ﬁ{:ﬂﬂ

2. Dysmorphia / %@Tﬁ%&ﬂ

3. Dysgraphia / feTufhan

4, Dyscalculia / M\’rﬂ

Correct Answer :-

+ Dyscalculia / %@mﬂ%\’rﬂ



What animal was used by Thorndike in his experiment relating to operant conditioning? / ?-ﬁ:"?:'lw

ERT fFaTyga e | Saftd Uit # fovd SHaR &1 Ui foear /m 412

1. Rat/dgI
2. Dog / T
3. Cat/ foct

4. Pigeon / X

Correct Answer :-

. Cat/iaﬁn

24) What type of learning did E.L. Thorndike propose? /3‘. Udl. Uﬁw AfFIUPR S
STRATH T YXITd IET?

1. Operant conditioning/m S GELE] (3HTIRT eI
2. Vicarious conditioning / PIGIBIRER \3‘@ g @m HarIfT)
3. Classical conditioning / G G‘Iﬂ_dﬂ:f (W CAIRIED))

4. Effect conditioning / THTA Y (ST ST
Correct Answer :-

+ Operant conditioning/lra')qw{j\d 3JgYH (&m CRIRIED))

25) In language development, the structural organization of a sentence is known as WAL %?

Ao A, v 9T & JEATHSD AT B & Y H JHET A1 2|

1. Phoneme / &f=H (El'ﬁ:hl_\q)
2. Syntax / TGO (Ricaw)

3. Pragmatics / JUTHD (Qﬁn%m
4, Morpheme / g (Imﬁﬂ:l)

Correct Answer :-

. Syntax / ATEATGAY (RicHT)

26) Identity versus Role Confusion happens between the ages of / Uedid

9T Yf¥PT YH A F T B
1. Zero to three /'Ql:q @ ?‘ﬂ:f
2. Three to six/?‘ﬂ:f@@_&'



3. Six to eleven / B8 9 RS
4. Twelve to twenty / SR8 I &I

Correct Answer :-

. Twelve to twenty / dRg TS

27) Any change that happens due to is considered as learning. /
& HRUT g ard et oft ufead= 3t Siftrry arT SITaT 81
1. Injury / El[

2. Fatigue / YhI-
3. Maturation / RT&dl
4. Practice / S{WTH

Correct Answer :-

e Practice / {WTH

28) CANCELLED
Nature of children is: / S| B Wﬁf a?ﬂ' %
1. Destructive /BTﬁW

2. Imitative / W
3. Imaginative / PRI

4. Constructive / XdqIHD

Correct Answer :-

o Constructive / 3IIHD

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards

learning?/mﬁﬁwwm&ﬁﬁ%mmﬁ%qﬁﬁﬁmaﬁmﬁ
BT TP Hbd 82

1. Students answering questions in class./ DT D&l AUy BT IS Q% %I

2. Student’s assessment records showing the amount of learning achieved. / €14 Hh - i\Qd;IJSC d"lab

ERT T TS A6 &1 &¥id &
3. Student giving innovative presentation of their work./ ST 30 B &I 3T uﬂﬁ od %|

4. Students doing their homework regularly. / BT FafHd 9 ¥ 30T g™ FR IR & |



Correct Answer :-

o Student giving innovative presentation of their work./ D1 30 HTH P NI mﬁf ad %l

30) Which of the following theorists of child development is not allied to the stimulus response

learning theory/ ST faTd & FUferfad & @ &9 T RIgideR, ST
yfafsear sftrm Rigia @ 9 7161 8:

1. Pavilov/ OTddid

2. . B.waston / SI.§ll. argc

3. Gesell / T

4. Hull / 8

Correct Answer :-

. Gesell / TIOd

Topic:- General Hindi (L1GH)

1) BT 9d A9
gl g g A

st & & g giat geraht
ofal Ft -ty St FuTa;
-y W Y, it v wifae,
$ad & Bal P O1g g1 Al
ehl-3 T g3
ST BT Siifad &7
BT | G 1

T @ g A

I § T IHT §, W § 7 WRHN;
foraar 81 Sret g 391 & WRuTT|
YT BT RIS Faa Frqon €,
& fge 8 foft vw @ o 81
St g aurd Bfee
SHBT T HR Go-

ST HT AT HA



TR g g1 7
gfaur-ga arew g, fiwar ¢ dy =&

5 I 8 R U9 & g9 &7 3 G|

39 ? 9 9l e IREIE M R,

1 g1 o fOaT Bd I-aRid o WR?

<N = forem Y@ s

P q Hfasg a_o,

BT 0d AT 0

R g gl A

ST U= $ UgH A1 T WM 91al WA BT @k 9a13¢|
WA S § e g&l T U $RT T 82
1. Ut 9 favg

2. FER WIcral BT 3{HTd
3. G0 &I TG

4. GO 3fcfid B! TG B &1

Correct Answer :-

. UM 3(dId ) TG B &l

2) ST Hd AT A
&I 8 gE g 7

Sita 4 § & gt gerat
ofaat i -ty beft avTas;
TH-IY Y I, Fid IS ATiEE,
Fad & Gl Bt A1g a1 arGT |
yeit-#ff T o
7T &% Sfifa &
BT T AT T

I @ g A

T 3 9 3YT 3, A § 7T IRE;
fora &t greT 3 € W
YT BT RIS Faa Frqon €,
& fger 8 fsft vw A o 81
it g gurd S



SHST IR Yor-
BT T AT T

T g g

gfaen-ga T 3, faaar 8 vy =

38 G € R 7 & g BT 3 TEN |

39 ? 9 9l e IR M R,

T g1 o &1 Bd I9-ad o WR?

N = forem Y@ s

P q Hfasg aR,

BRI 9 AT 7

EIT g& g1 A

ST UL P UgHR 1 IR WM 9T U= BT @R a1s¢|
U=H: 1 g3 o e o frasd o1 R

1. 3G-94d

2. did-§49d

3. TR

4. RIRR-gHd

Correct Answer :-

3) ST Hd GATHA

&A1 8 g& g 7

sita # § & gt gera-
o & fe-vie St guTa;
T A I, i 7S e,
$ad & Bal P O1g g1 Al
eit-3t TP g
AT g Sitfad &
BT Hd AT HA
BT g@ g1 |

g 3 9 3YT 3, A § - IR
foraar 81 Sret g 391 & WRuTT|
TYdT T IRV Fae TGN 2,



g dfgdT # W v Ia pwn g1

<t 8 gurdf s

SHPT q PX Yoi--

BT T T T

I @ g A

gfaen-ga T 8, fagar 8 vy =

38 G € W 7 & g BT 3id e |

39 & 1 die [ NI M R,

T g1 ol T Bd I9-aRid o WR?

N = forem Y@ s

P q Hias aR,

BT 9 AT 7

FIT g& g A

S UL $ UgHR 1 IR WH 9T U= BT @ ga1se|
T=H: I P AR 81 diq & G w1 f5d gt 22
1. T bTail Id

2. 3BT

3. ART HRT S{TBTR

4. BT Sicd

Correct Answer :-

o Ub PIail Id

4) ST Hd AT HA

BT 8 g g1 o

Sfte & & g9 gitrat gerast
ofaal it Rty Heft Tuma;
Ty Y I, I TS At
$ad & Gl Bt TG a1 argH |
ell-o v geH
AT R SHfdd &for
BT 9 AT 7

TN g g E

I ¢ T IYT 3, WH & 7 WA



ot gt et S g v

YT T IRV Fae TN 2,

& ufer § fsdt ue T poom 31

it 8 gurd s

DT T PR G-

BT Hd A1 A

T @ g A

gfaen-ga arew 8, fecgar @ vy =

3T gt 8 W 99 & g BT 3 |

39 § 7 I e IR M R,

1 g1 ol T Bd -9 o UR?

S = forem Y@ s

P q Hiasg aR,

BT 0 GAT A

FIT g g

ST U P UgH 11 IR WM a1 U= BT @ a1sel
wH: St safad @1 IRG-I1a 3 R forads 7 e 1 g@ giaT 82
1. 9dTd

2.9 &

3. 7[d &
4. AR &b

Correct Answer :-

U

. digdh

5) BT Hd AT 7

B4 8 g g1 o

ot & ¥ g gftrt geraht
ofaat &Y fRE-viy Heft wvTE;
-Gy A9 G, i 1S anfee,
$aa  Gal B qre g dien|
ell-oH T ged
T g Siifad &for

BT HT YT HA



TR g g1 7
T g T dYd &, 99 & 7 IIHET;

o € e g I & w=ATE

THAT T IRV Fae TGN 2,

B dfeer # fdt us vra oo g1

it 8 gurd s

SHST T B Goi-

BT 9 AT 7

R g gl A

gfaun-ga ured ©, fewar ¢ vy =78t

3% G 81 IR A & gd BT 3id gt

39 § 7 dig faen TR oF W,

1 g1 ol T Ba I9-ad o UR?

S = forem Y@ s

P  Hfasg aron,

BT T AT T

I @ g A

ST U= $ Ugh A2 IR W 91d U= 1 3wk §a13¢1
U ‘ST Xeg 39 Hidar A fory e & yyaa gaen 82
1. FTRIHT & ferg

2. Yiqwrq &1d o fere

3. A BT & 1T

4. YdHb1d & forg

Correct Answer :-

. YdPId P fTT

6) BT dd AT HA

€61 ¢ g g1 o

Sfie & 8 ¥ gitrat gera
ol & fem-vie et guTa;
- A I3, i T8 A,
$ada P Gal B qre g dien|
Yeft-#ft T o



A1 g1 Siifad &or

BT T AT T

T g g

T T 3YT 3, A9 § 7T IRE;

e &t st S &y
TYT 3T IRV Faa grqon 2,

& Hfer A 5t T T pwn B

St g aurd Bfee

SHDT X Yoi-

BT 9 AT 7

EIT g& g A
gfaen-ga T B, fecgar @ vy =

3T gt 8l R HA & g BT 8id |
39 ¢ 7 9 Qe IRERE M R,
1 g1 91 T B T9-a9d 9| R?
N = firem Y@ s

P q Hfasg ar,

BT T AT T

I @ g A

ITYe Ui &1 Ugh? 1 Y oM 91e U= ST S« 93¢ |
WA WOl & 1Y I foam & 91¢ A 1 i Y I8 A1l 82
1. DO &1 A1

2. PO & arg

3. Dot 1 &rd

4. 39D I DI JriY

Correct Answer :-

. IYD T DI YIY

7) ST Hd FATHA

BT & g g A

sfte 9 8 g& gt gera
Sfaat & fe-iy bt AHTa;
-Gy A9 I, a8 Afde,



EGEERTIEIRICCRIEI Sl
el T e

A1 BT Siifad &7

BT T T T

I @ g A

T 3 7 3YT 3, A § 7T WA

fore &t et 3 € W
YT 3T IRV Faa grrqon 2,

& dfeer & fft ue wra oo 1

it g gurd S

SHDT X Yoi-

BT 9 AT 7

R g gl A
gfauT-gd a1ed 8, s § vy =Téf
3T gt 8l R HH & g BT 8id |
39 ? 9 9l e IREIE M R,

T g1 oI T Ba I-aRid o WR?
o = forar ya s

P q Hfasg a_o,

BT 9 AT 7

I g@ g1 |

ST U= $ UgH 18 I W g1el U= BT @R 9a13¢|
U: 59 BfadT § $fd A fad TS aa a1 22
1. {1 aTeT gAY

2. TId 351 99T

3. ST g3 hdl

4. HfST gUTS

Correct Answer :-

. ®fea gurd

8) ST Ad FATHA
BT 8 g g1 °
wfte # & e girat geras



ofaat $t -ty et FvTas;

T A I, i 7S e,

$ad & Bal P A1g g1 Al
eit-3t TP g

7T &% Sfifa &

BT Hd QAT A

T @ T A

g1 3 9 3YT 3, A § 7T IRE;
foraar 81 Sret g 391 & WRuTT|
YT BT RIS Faa Frqon €,

& fge 8 foft v A o 81

it g gurd s

SHPT T B IoiA-

BT 9 AT 7

T g g
gfaen-ga T 3, favaar 8 vy 7
3% g1 81 IR 7 & g &7 3 g1 |
39 ? 9 9l e IR M R,
1 g1 ot a1 Bd I-aRid o WR?
N = forem Y@ s

P q Hfasg a_,

BT 9 AT 7

I g g A

ST UL F UgHR A IR WM 9T U= BT @R ga1s¢|
U=H: §H 3T YABT Bl FT HRb A6l 1@ A1gT?
1. YA PR

2. S8 I

3. B

4. Uhg hX

Correct Answer :-

. UHS IR



I & g g1 A

Sfte & & g3 gitrat gerast

ofaat Ft Rty Selt guTa;
-Gty A9 7Y, Fi 7 i,

$ad & Gl Bt q1g S ArGHT |
ell-¥ v g

AT R SHfdd &for

BT 9 AT 7

I g@ g1 |

I ¢ T IYT B, WF & 7 WA

fora 3t et 3 8t R
WY1 T IRV Fae TN g,

W fger 8 foft vw A pon g1

St g gurd Bfee

IHST T B Yoi-

BT T AT T

I @ T A
gfaen-ga T 8, facgar 8 vy =
3% g1 81 IR 7 & g &7 3id g1 |
39 ? 9 9l e IR M R,

T g1 o T Ba I o UR?
N = forem Y@ s

P q Hfasg TR,

BT 9 AT 7

FIT g& g A

S U P UgHR 1 IR WM 9T U= BT @R ga1se|
WH: T30, IUT & Afafvad 3R w1 a1t T Igan?
1. 3R

2. Hgd
3. b

4, TieS &1 STHTYST

Correct Answer :-

. U & SHgen



10) ST Hd FAT T
€A1 8 g g1 o

Sfte & 8 98 gkt gerah
ofeal Ft -ty Heft Tuma;
g 9 7Y, i T e,
$aa  Gal B qre I dien|
ell-¥H T ger
AT g Siifad &ror
BT Td AT T

FIT g& g A

I3 T IYT B, W ¢ 7 W
a1 € e1 T 391§ YT
YT T IRV Fae TGN 2,
& dfeer # foft us g poom g1
St 8 aurd Bfee

SHDT P YuI-

BT 0d AT T

R g gl A
gfaen-ga arew ¢, o 8 vy &
3T gt 8l W 9 & g BT S A |
39 § 7 diq faen IRE-Ia o W,
T g1 i1 R et I- i o WR?
S = forem Y@ s

P q Hfasg @R,

BT Hd A1 1

ST g g

ST U= $ Ugh A12 IR WM 91d U= BT Sk 9a13¢1
U fewid 811 & srasg sneHt ®1 fw awe & |el wwr 161 fowrs qar
1. YT & HRUT

2. A & BRI

3. 3Td HRUN A

4. GfAYUT & BRI



Correct Answer :-

. gfduT s RO

11) BT HA AT HA
&A1 8 gE g 7

st & & g giat geraht

ofaal Y vy et werurat;
-Gy A9 7Y, i 7S i,

$ad & Bal P O1g g1 Alg |

eit-3 TP g

A1 BT Siifad &7

BT T AT T

I @ T A

T 3 9 3YT 3, A § 7T IR

fora= gt greT 3 € W

YT BT RIS Faa Frqon €,

& fge 8 fsft v @ o 81

St g gurd S

SHPT X Yoi--

BT T AT T

T g g

gfaen-gd rew 8, RRmar @ vy =gt

3T T €1 R 7 $ g BT 8icl TEN |

3 ? 7 A A IRE-T4 M W,

1 g1 ol AT Bd I9-aRid o WR?

N = forem Y@ s

P q Hfasg a_,

BT 0d AT T

FIT g@ g A

ST UL $ UgHR 1 IR W aTd U= BT @R ga1s¢|
W: IR A WY 35T § Afb T & 3 71 §RT WX i 32
1. 30Te

2. i



3. gRM
4.¢d

Correct Answer :-

12) BT A AT HA
€61 g g1 o

Sfte & 8 ¥ gitrat gera

il & vy et wruTa;
-Gy A9 T, e 7S i,

Fad & Gl Bt 1g a1 arge |

el @ ged

AT g Siifad &or

BT Td AT T

T g g

T § 7T 3UT §, A § T AT

fra &t SieT g 31 & HRwmm

THAT T IRV Fae TGN 2,

e dfge # 5 ue Ta pwn R

it g gurd s

SHDT P Yoi-

BT 0d AT T

FIT g& g A

gfaen-gd w8, fegar @ vy =

3T gt 8l R 9 & g 1 8id |

39 § 9 9l fadr IRE-IE M R,

T g1 ol T Bd I9-ad o UR?

N = firem Y@ s

P  Hfasg avoT,

BT T T T

I @ T A

ITYed Ui &1 Ugh? 1 YD WM 91d U= &7 S« 9a13¢ |
T 3 YaoTd B Sifcral 1R et ssue &1 seu | g2



1. S ol
2. St &7t

3. OGO
4, @G UId

Correct Answer :-

13) BT Hd AT HA
&Il § g gl o

sita # ¢ g ghral geraHt
ofaat Ft Rty Felft guTa;
-y Y I, it TS At
$aa P Bal B are g dre|
el v ger
AT R Shfdd &for
BT 9 AT 7

R g gl A

I g T IYT 3, WH & 7 R
v € e a1 & R
YT BT IRV Pae GIqeon 8,
T dfser A o go wa g Bl
it 8 gurdf s

SHPT P Yoi-

BT T AT T

I @ T A
gfaut-ga arew 8, e § vy 1
3T gt 8 W 99 & g BT 3id |
39 § 9 9l e IR M R,
1 g1 o T Bd 399 o WR?
N = forem Y@ s

P q Hfas aRo,

BT 9 AT 7

FIT g& g A



SUYF YT D1 UGHR A1d I S T U BT I« darse|
WH: S BT TR &UT fHas! O AV Ig A1a1 82

1. faredt oft v Y

2. Trefl g8 el Bt IRE

3. T 1 XMifd &I Rg

4. Tt eit-< Gor H Rg

Correct Answer :-

. fordl el g3F BT RE

14) ST Hd AT HA
gl g g g A

Sfte & & g9 gitrat gerast
ofaat Ft Rty Selt guTa;
Ty Y I, It TS ArfEe,
$ad & Gl Bt q1g a0 argT |
Yel-¥t T gar
AT R Shfdd &for
BT 9 ZAT 7

R g gl A

I § T IYT 3, WF & 7 WA
fora 3t e q 3 8t R
TYdT T IRVI-T Faa PN e,
W fger ¥ foft v a son g1
St g aurd BfeH

IHST T B Yoi-

BT T AT T

I @ g A
gfaen-ga T 3, facgar 8 vy =
3% g1 81 IR 7 & g &7 3id gl |
39 & 1 die [ NI M R,
1 g1 o T Bd I9-ad o WR?
N = forem Y@ s

P q Hfasg a_,



BT HE FAT 0

T g g

ST Ui $ UgH? T IR WM aTd U= HT Sk garge |

U fiee § & GO Rt gereer, @ o3 &1 it frad 22
1. oot @ &t

2. Siqd &t AR Ffadi §

3. uifer =7t &

4. geTa-1 Bgei 4

Correct Answer :-

. Sita &1 AR Wiaa 9

15) BT Ad AT T
BT 8 g g1 o

Sfte & 8 g9 gitrat gera
ofeal Bt -ty Heft Tuma;
-y Ay W, ot 1 afi,
$aa P Gal B are I dien|
el T geH
AT R SHfdd &for
BT 0d AT T

FIT g g A

I ¢ 7 IYT 3, T ¢ A HET;
fora= €t ST g ST @ H=wm
YT 1 RIS Faa Frqon g,
& ufer § fsdt ue T poom 31
St 8 aurd Bfee

IHBT T B Yo-

BT Hd A1 1

I @ T A
gfan-ga wrew 8, fean @ vy 18t
3T gt 8 IR 99 & g BT 3 |
39 § 7 I e IR M R,
1 g1 ol a1 Ba -9 o UR?



< 1 forem o 9@

P  Hfasg avo,

BT T T T

T g g

ST U= $ Ugdh A2 IR W 91d U= BT Sk 9a13¢1
U= BT B P AT UHSA D DI AT T glell 872
1. A

2. Y

3. Q‘itl
4. gIH
Correct Answer :-

. Y

16) faen, ®en, wfaar, Aifitw, 4= 3R Iora A ot meRvr &1 g« ifte sfasAd! g1 e $t
YT B T HXP TP S ATGHT Iorafi & fEat uv +ft Sramm gy 541 Iovar 81 59 9WaT & a9 A
Far, Tifgd, 3R Wifta &1 srgya fafS v gt 31 31 i gg 81 e 8; faen &1 vt Re-aa ga
ST 8, RE-%e1 &1 |9 IR SrATu o ST §; 991 9U gl §iTdl 8; ade 1 ag-t 4w oirdl 8; 9 s
A & A T HUE, T T4 R T B3 1 =g SufRUd 3t a1 31 STER0T St FIgarTg YT Jer
T Tl 31 $9 UTT &1 frevg Y[ xad U= ot g1 398 A & fore oft zreg 81 a5 wwmeRur A1
Far g3 ft M= 3, sarer Sar go ot e & Wi fsur 8, ¥ rar gen W I F R F iR usT B
g a9 @1 feTa # Smaror &) T 99 ©u § gelt g3 31 7T, 41, U9 3R IR 99 & A9
YRR ST HTYT & M ARSI & | AFS & Siia UR HIH SRS b1 YHTT R giar 8 3k 39t
S{THT BT TH 37T B STt g

A o1a, | Hian, 7 g, 9 9%, | gdi, T 9, 7 37, 9 gféol, 9-9m, 9-Fm, 3-aem, e
ST & ARV A WA Foft, Fir et yamfea gom st 8; 39P W4 A UG 99 3R ufarar-ef anr
S $T ST IS (G 810 o1 §HDT SURTT | 7 3R T 3 g I o1a § 1 witeor TReft @ 1t
YA AfdT SATERYT & BT STGall @i garaia | dad g) 9 § | A=~ IRE Fg FAGR §¢ TV B
T e R d Bg P 3G BT U Hd ¢ | TR & A7 &b Th 31 & T WX & 7 T o 81
TRV & G-I A SHGW] b geil 3R uddl 9% & ged T H1 T4 8 | TR F T AT
q U B TH 4T o= U giaT 8 | 3-8 fiar wad € uede 811 @a 81 @ 156 T9qa gl s g
a8 1 g@ Ul § 9 UR 3mar 81 78 A fed §1 oo uerdt & a1y v a1 8t-ura Be usar 31 g,
Wd, arYg, I, URR, 919, UTd, 7R, AR} 3R 976 a6 # TP AYdyd e gfd & =i g1 e &1 et
RS B Wgwl §a-11 gaadl, sa-1 srfadt 3R sa- wHTaad! gt @ for IUS JTHA a1 ATgHTT, FaT
FITGUTHT 3R FAT 3= AT BT HINT WG BT TG 3 UdId il &1 377 BIS Ut fooy 1EY, Paa SR 5t
M HTaT € SRadT B

ST T B TgHy H2 T T U BT I« TS
TR: TR BT HT ST W Tl 22

1. P-HAT

2. TIPS TGN

3. J¥dTHY HIYT

4. Tgfrar



Correct Answer :-

o JYYATHY HINT

17) e, oo, wfaar, witw, o= 3R Iora | ot smeror it war siftre saifasadt 31 smeRor #t
T B YT HIP TP HITe ATt Iremait & faal uv off Sru=r uycd o1 el 81 59 93dT & oA 9
HaT, AT, 3R Wi & srgyd fufS wra et 81 1 3iftres 9g ot wiren @; faen &1 v Re-Aa g
ST §, Rrsr-at &1 |91 307 SreTy= o STl &; a1 99 & SiTdl 8; 9@ 3t @t 4| et €; qfd a9
I F JTHA 1A HU, T8 T4 AR T D7 B1 Txa Ul 81 F1aT 31 STIRUT B JIGARTT TSI Tl
T ¥l 31 $9 UTT &1 frevg Y[ xad U= arern g1 398 Araus & fore off zreg 18| a5 wwameRur A1
Far g ft M= 8, sarer Sar gom ot e & Wi fsur 8, ¥ mar gem W I R F iR usT 31
g a9+l @1 et ¥ Smarvr &} Gy 49 = 9§ gelt g3 31 79T, <41, U9 3R IRAT 99 & 99
TRV T UTHT & i A & | 9% & Siia- IR W ARSI H1 YHTa Tt giar 2 ik Saat
SATHT HT TH 3T g o1l B

T @1a, 7 e, 7 dtan, 7 9we, 7 gdi, 7 ufdelh, 7 3, 7 gféoh, 3-am, 3-fwm, 3-aem, fawma
STHT F ATEROT F WA o}, JOfRr Ter wanfed gonm #dl 3; 9P 99 | vya 99 i ufaar-enf ar
SRTd T HedT0l B fIFd gid ¢ 1 39! SuTRUfa @ 7 3l ga 3 Bg 9qd o1d ¢ dieur el & orel
YA AfRT TR & HTA FIeal @1 gerardt A faa g o & | AEE~ RS By FAMGR 5 BV TP
YT e aNd By & 3G BT U Hd & | TR & 47 &b Th 31 & I U & = T o &1
TRV F 3THE-Jd T IHIW] Erh3 &l 3R udal 9 & ged ToI B Td 81 TRV & W AT
A U I TH 47 Sfta- 9T giaT 8 | 13- faaR W € ude g a@d €1 @ 156 Taqa gl s gt
W €1 g Tul F 5 HR 3mat 1 72 A7 fraa €1 po uerdf & wiy v T A0-1ra we usar g1 3,
W, 91, o, URR, U, UTd, 7R, AR} 3R 91a% a6 § UH AYdyd e qfd & a3+ g oird ¢ | di-eut
RS B! Tgwl ga-1 geradt, ga-t srfadt iR sa-it guraad gt @ for Sud W=« argum, &
TIfEAHTYT MR T 3T S Pt YT T P TG G Ui glall & | 37 B YW1 feoq Y, aa Smeror &
WA UTaT § $RadT B

ST T H g 9 TS T U BT IR Iq18L |
T: A SR BT I WO & 71 2?

1. 333

2. qHAE

3. ASTH Y

4. AT

Correct Answer :-

. T

18) faen, ®e, wfaar, Aifitw, 4= 3R Iora A i meRur # Fygar siftre sfasAd! g1 e $t
T DI YT HIP TP I 1T Iramait & faal uv WY Sru=r yyc 701 IhdT 81 59 93T & o o
T, Tifed, 3R Wifta &1 srgya il v it 31 31 i g 81 5iran 8; faen &1 i’ Re-ma ga
ST 8, RI-Far &1 W IR AT @ SITaT §; a941 94 81 9T §; A &) a@-1 4f ol §; g a9
A & A T FUE, T3 799 3R T B3 &1 exa IufRyd g <16t 81 STERU1 S GIGarTg UTST [T
T Tl 31 $9 UTT &1 frevg Y5 xad U= arern g1 398 Araus & fore off zreg 8| a5 wwameRur A1
Frar g3 ft M= 3, sarer Sar gom ot e & Wi fsur B, ¥ mar gem W I R F iR usT B
g a9+ @ T # Smaror &) G 99 U S gt g3 31 79T, <41, U9 3R IRAT 99 & 99
TR BT UTHT & W9 ARSI 8 | A & Sita+T UR W SRS BT YHTT R giar g 3k saat
SATHT HT TH 3T & o1l B



= 1a, 7 e, 7 dtan, 7 9%e, 7 gd, 7 ufdef, 7 3@, 7 <féoh, 3-am, 3-fwm, 3-aem, fawma
STHT F ATEROT F WA o}, JOfRr Ter wanfed gon #dl 8; 9P 99 | vya 99 iR ufaar-enf ar
ORI BT HedT0l Heh fIFgd Eid ¢ | 39! SUTRUfa @ 7 3R T 3 Bg 9qd o1d ¢ | <igur TReft & ored
YA AfdRT SATERVT & BT qTGal Pt araiat | dad g) 9 § | AFHG~ NG B FAGR §¢ TV B
YT e R d By & 3G BT U Hd & | TR & 47 &b Th 31 T T WX & =7 T o €1
TRV & 3THE-Jd T IHIW] EIh &l 3R uddl 9 & ged ToI H1 d & | TRV & HF AT
A U B TH 4T Sita- YT gidT 8 | T3-12 faaR Wi € uebe 811 @d €1 @ 156 T9qa gl g gt
WTd 81 g@ Ul T 5d YR 3Mma1 81 74 A e §1 oo uerdf & 9y v 4 $3t-urd Be usar 81 9y,
o, 91, W, URR, 919, UTd, 7R, AR} 3R 914 d@ # Ue AYdyd e qfd & =i 81 aid g1 HiFwut
RS 1 Wl §a-11 gaadl, ga-1 srfadt 3R sa-t wuTaad! gt @ for IUS JTHA =1 ATgHTT, FaT
TG HTYT MR T 3T S Pt UTNT 99 P TG G UdId il & 1 37 B Uo7 feaq Y, Faa Smeror &
WA UTaT § SRadiT B

ST TR BT UGH -1 T Y Y= $T &R qarsy|
WA HIGUTYT, ATR@UTIT 3R 3T 3T Bt YT T Uelid giell 82

1. TS
2. 94

3. Y
4. 3T

Correct Answer :-

19) faen, oo, wfaar, Aifitw, 4= 3R Iorg A o mERUr # Fygar siftre sfasAd! g1 e $t
FIAT B U HIP Th SIS et Ieinsil & faal uv ot Sra=im wycd STa7 Tehat 31 39 a1 & e A
Fal, At R Wifta B srgya fafs wiea gielt 81 I 3if¥res qg g1 oiren 8; faen &1 Fier1 Ra-A7 ga
ST 8, RIF-%ar &1 W IR AT @ SI1d1.8; 991 U 81 9T §; A Bl A@-1 4F o §; g a9
A & JTHA T U, T8 79 3R T8 S &1 T30 IufRud 81 141 21 SITERT $ AT YT e
T Tl 31 $9 UTT o1 fravg J[ xad U= arerm 3| 398 A8 & fore oft zreg 81 a5 wwameRur Arg
Far g3 ft M= 8, sarer San gom Wt e & Wi fsur B, ¥ rar gem W I F R F R usT B
g a9 @ T # SmaRor &) Fagdr 49 w4 S gt g3 31 7T, 41, U9 3R IR 99 & 99
IR ST HTYT & HF ARSI 8 | A & Sita WR HIH SRS b1 YHTT R giar 8 3k 39t
STHT BT TH 3[T Bl STt g

T ®ra, | Hian, 7 g, | 9%, 7 gdf, 9 ufid, 7 37, T gféof, 9-am, 9-Fm, s-aem, e
STHT & TR H W F0ft, JAfRr TeT v goim Bl €; 39 W9 A ugd 9w iR yfaar-ud 9
S $T ST IS 3G 51 § | THPT SURITY | 77 3R T 3 g Iaa o1a §1 oiteor Reft @ o1t
YA AR STERUT & HTA dTeal @1 Jeraid) | e 8 ord § 1 AHS0~ IRG Fe FAGR §U TY 3P
T e ad By b 3G BT U Hd & | TR & A7 &b Th 31 & T WX & 7 T o €1
STERVT & 3MTHG-Jd A I b geil 3R udal 9% & geu T H1 T4 8 | TR F T AT
¥ AT & TP 7471 Siig- YT BT 81 TA-12 faR ad € yoe 89 @ € | G 156 9999 81 g &
a8 1 g@ Ul § 5d UR 3mar 81 798 A7 fed €1 $a uerdt & a1y v a1 8t-ura Be usar 31 g,
Wd, arYg, I, URR, 919, UTd, R, AR} 3R 976 a6 # U AYdyd e gfd & =i g1 e €1 et
RS B! Ygwl ga-1 geradt, ga-t srfadt iR ga-it guraad gt @ for ITd wwA «ar argymT, Fan
FITAUTIT 3R FAT 3 A BT HINT TG BI TG 3 UdId el &1 3T BIS Ut faoy 1eY, Paa SR 5t
W= YT g ST B

IUYT TR B UGHR A4 T T U $T IR qa1st|
U= fraet g gaadt, srdad! 3k uHTaad! udia gt 82
1. haldR



2. AU IRA™
3. 3R]

4. IR

Correct Answer :-

. AU ARSI

20) fa=n, o, Sfaar, Fiftd, 9= iR IoRa F o MR $t g sifte suifasadt 1 smRo &1
FIAT B U HIP b ST et el & faat ur ot Sra=im wycd 707 Tehat 31 39 a1 & e A
Far, Tifed, 3R Wifta &1 srgya il v gt 31 31 31 g 81 5iran 8; faen &1 vt Re-ma ga
ST 8, RIF-%ar &1 W IR AT @ STdT 8; a961 90 81 9T §; A b1 A@-1 4F o §; g a9
A & JTHA T FUE, T8 799 3R T S &1 T30 IufRud 81 141 21 STERT $ AT YT el
A Tl 31 $9 UTT &1 frevg Y xad U= arern 31 398 Araus & fore off zreg 81 a5 wwameRur Arg
Far g3 ft M= B, sarer Sar gorm ot e & Wi fsur B, ¥ mar gem o I F R F R usT B
g a9 @1 T # Smarvr &} G 19 ©u § gt g3 31 7T, <91, 9 3R IRT 99 & 9
IR ST HTYT & M ARSI & | A & Sita WR HIH SRS BT YHTT R giar 8 3k 39t
S{THT BT TH 37T B STt g

A o1, | Hian, 7 g, 9 9%, 7 gdf, 7 ufid, 7 37, T gféof, 3-am, 9-FRm, s-aem, e
STHT & TR F W Foft, FafRr TeT e goim Hel €; 39 W9 & Ugd 9w iR yfaar-ud 9
S $T ST IS 3G B1d & | THPT SURTY | 779 3R T& Bt g 9o oI1d § 1 whteor Reft & o1t
YA TR TR & BT Gl DI qaraict F Mad gt SITd § | AT ING Hg TR §C TV SHD!
YT e aRd By b 3G BT UM Hd ¢ | TR & A7 & Teh 31 & d WX & 7 T o €1
STERUT & 3MTHG-Jd A IGW] g geil 3R udal 9@ & §od T H1 T4 8 | TRV F T AT
T IS $I TP 471 Sita+T U i1 8| -1 faaR ¥ad g1 udhe g4 @rd € | g@ &1 9994 g g¥ 8l
a8 1 g@ Ul § 5d UR 3imar 81 78 A e &1 $a verdt & a1y v a1 8-t Be usar 21 g,
Wd, arYg, I8, URR, 919, UTd, R, AR} 3R 976 a@ # TP AYdyd e gfd & =i g1 e &1 et
RS B! Tgwl ga-1 geradt, ga-t srfadt iz sat wumaad gt @ for Iud [wa a1 argym, Fan
FITGUTHT 3R FAT 3 AT BT HINT UG DI TS G U id gheil &1 37 BIS Ut fooy 1eY, Paa SR 5t
W HIWT 8 STadT g1

IUYT TR B UgHR 14 Y@ 7T YA $T Ik qa1st|
WH: SATERUT & S+ 0N T g4 A T aread g2

1. Had TAER TSl T &

2. $Id 3T X HaAT HIERTS 3Tl §
3. Bad AUI-gell se a1igy
4. Iugad quft

Correct Answer :-

. S el

21) faen, a1, wfaar, ifitd, ¥ 3R Iora F ot MR 9t Jagar siftre safasadt 81 smRor &Y
FIAT B U HIP b SIS et el & faat ur ot Sra=im Wy STa1 Tehat 31 39 99aT & o= A
T, Tifgd, 3R Wifta &1 srgya i v gt 31 31 31 g 81 5iran 8; faen &1 vt Re-aa ga
ST 8, %1 &1 |9 I SrATy o ST 2; 991 U 8 §Tdl €; ae B agt 3w ordt §; 9 a9
A & JTHA T U, T8 797 3R T S &1 27 IufRud 81 141 21 SITERT $ AT YT el
A Tl 31 39 UTT &1 frevg Y xad U= aren 31 398 Araas & e off zreg 91 a5 wwameRur Arg



Frar g3 ft M= 3, sarer dar gom ot e & Wi fisur 8, ¥ mar gem W I R F iR usT 31
g ga-l 3t freTa ¥ eRvr &Y Gagar €9 ¥U A Gl g3 ¢ | 7941, 4T, 99 3R IgRT 99 & 99
TR P UTHT & HF A 8 | A% & Siia- IR W ARSI &1 YHTT FRRumdt gian 2 ik Saat
SATHT HT TH 3T gl o1l B

T ora, | Han, T o, 9 9w, 7 gdf, 7 ufid, 7 3@, T aféoh, 9-am, 9-fm, 3-aem, e
STHT F ATEROT F W = ofl, JiRr Ter g gonm wedl 8; 9P 99 | vyd 99 iR ufasar-enf ar
ST BT HedTul b [IFqa 1 ¢ | SHDT SUTRUTT | 7 3R TGT B Hg T oTd ¢ | Hg0r TRt § wret
YA R TR & BT dIGal BI eraiat A Mad gt A1 § | AR~ IRG FY FAGR §T TY TSB!
YT e a¥id By & 3G BT UM HRd & | TR & 47 & Th 31 & T WX & =7 T o &1
STERVT & 3THG-Jd A I rhx gail iR uddl 9% & gad T - a4 8 | TRV F T AR
¥ IS $! TP 471 SftaT U it 8| - fauR a9 81 ude g1 @rd € | g@ 3156 9994 g gX 8l
T €1 @ Ul F 9 WR 3maT 1 72 A7 fraa €1 pa uerdf & Y v o A30- 1 we vsar g1 3,
W, a1, I, URR, "I, UTd, 7R, 7R} 3R 9@ 9% | TP AYdyd Yo G P 3% g1 A & | Hieeut
RS B Wewl Fa-11 gaadl, ga-1 srdadt 3k sa-t wuTaad! gt @ for IUS IwA 1 ATguTT, FAT
HITGUTET 3R FT 3= I BT HINT 99 D1 Ja o3 UdId gial &1 37T HIS UTeT fooy e, Paa SR $t
I HTT 8 STadT 21

ST TR H UgH - D T U= $T &k Tarsu|

W: U, 4T, 39 3R IGRAT G & T IR B HIUT & HT §2
1. T R

2. AYR raTag

3. AERAT b HId

4. 3! HTDHRUT

Correct Answer :-

22) faem, e, Siaar, @ifg@, oF iR e @ oft smaRor &Y Tar sftre waifoerdt 81 smeRor 35t
T B YT HIP TP HITel et Iemsit & fal uv off Sru=r wycd ST el 81 59 93dT & o9 A
Fal, Aifed, R Wiita o sigya i wre gt 81 391 3if¥res qg 71 e 8; faen &1 et Ra-A7 ga
ST §, Rrsr-ar &1 |9 30T @1y &7 STl 8; a1 99 & Siidl 8; 9@ 3t @t 47 et €; qfd a9
I F JTHA T HUI, T8 T AR T B9 B7 w7 U 81 F1aT 31 TRV BT JIARTT TSI Tl
T ¥l 31 $9 UTYT &1 fravg Y[ 3ad U= arern g1 398 Araus & fore oft zreg 18| a5 wwameRur A1
Frar g ft M= 8, sarer Sar gom ot e & Wi fisur 8, ¥nT mar gem W I R F iR usT 31
g a9+l @1 et # Smarvr &} G 49 U | gelt g3 31 79T, <41, U9 3R IRAT 99 & 99
TR P UTHT & i A & | 9% & Siia- IR W ARSI &1 YHTa FRRumdt giar 2 ik Saat
SATHT HT TH 3T g o1 B

= @1a, 7 e, 7 9tar, 7 9%e, 7 gdi, 7 ufdef, 7 3, 7 gféoh, 3-am, 3-fwm, 3-aem, fawma
STHT F ATEROT A WA o}, JOfRr Ter wanfed gonm #dl 3; 9P 99 | wyg 99 i ufaar-enf ar
SRTd BT HedT0l B fIFd gid ¢ 1 39! SUTRUfa @ 7 3l ga 3 Bg 9qa o1d ¢ | igur el & ored
YA AR TR & BT dIgal DI Jeraiat A Mad gt 9 § | AR~ IRG Fg FAGR §T TBY ST
T e ¥ d By & 3G BT U Hd & | TR & 47 &b Th 31 & T WX & =7 T o 1
STERVT & G-I A IS grpx geil 3R uddl 9% & gad T 1 T4 8 | TRV & T AR
A U B TH 47 Sfta- YT gidT 8 | -2 faaR Wi € uebe 811 @ d €1 @ 156 T9qa gl g gt
WTd &1 g U A T R 37T 81 78 A a1 o uerdf & 91y v qar #3-ura we usar g1 9o,
W, 91, 6, URR, U, UTd, 7R, AR} 3R 91a% aF | UH AYdyd e gfd & a3+ g ord ¢ | Ji-eut
RS B! Tgwl ga-1 geradt, ga-it srdadt v sa-it gumaasd gt 8 for Iud wwa w1 argum, F=n
TIfEAHTYT MR T 3T S Pt YT 9 P TG G UdId giell & 1 37 B UTWT feoq Y, Faa Smearor &
W HTaT § $RadT B



ST TR BT UGH -1 T T Y= $T &k qarsy|

U: SIS 3MeH! e & fee uv T ST gehdT 82

1. U4
2. b

3. a4l
4. YHId

Correct Answer :-

23) faen, o, efaar, aifed, 9= iR IoRa § o MR 9t g sifte suifasadt 1 smaRor &1
FIAT B U P b SIS et el & faat ur ot Sra=im wycd 797 Tehal 81 39 9aT & o= 3
T, Tifed, 3R Wifta &1 srgya il v it 31 31 i g 81 5iran 8; faen &1 i’ R ga
1T 8, FRIF-%ar &1 W9 IR AT @ SI1aT 8; I961 U 81 9T §; e Bl d@s! 4| ol §; g a9
A & JTHA T U, T8 799 3R TH S &1 20 IufRud 81 141 81 SRRl $F WA YT e
T Tl 31 $9 UTT &1 frevg Y xad U= aren 31 398 Arau & fore oft zreg 9| a5 wwmeRur Arg
Far g3 ft M= B, sarer Sar gom ot e & WD fsur B, 3T e gen o I F R F R usT B
g a9 @1 T # Smaror &) G 99 ©u S geit g3 31 79T, €41, 9 3R IRAT 99 & 9
IR ST HTYT & M ARSI & | A & Sita WR HIH ARSI b1 UHTd R giar 8 3k 39t
S{THT BT TH 37T B STt g

T ®ra, | Hian, 7 g, 9 9%, 7 gdf, 9 ufid, 7 308, 7 <féoh, 9-9m, 9-Fm, s-aem, e
ST & TRV A WA Foft, GriRr Tt yamfia gam w3t 8; 39 19 A ugd 99 3R ufasrar-ef anr
ST BT S0 HYS fIvqa 810 | S SURRIR A 77 3R Taa 91 g a0 oa §1 feor Tt F s
YA TR TR & BT Gl DI qaraict § A gl 9ITd § | AT IRG B TR §C TV SHD!
T e aRd By & 3G BT U B ¢ | TR & A7 b Th 31 & Fd WX & A T o 81
STERVT & 3MTHG-Jd A I grpx geil iR uddl 9% & geu T H1 T4 8 | TRV F T AR
Y IS $I T 471 Slia+T U il & | F3--1 faaR w9 €1 ushe g4 @rd € | g 3156 9994 g gX 8l
a8 1 g@ Ul § 9d WR a1 @1 78 A7 e €1 oo uerdt & a1y v a1 8-y Be usar 21 g,
Wd, arYg, I8, YRR, 919, UTd, R, AR} 3R 916 d@ # TP AYdyd ez gfd & =i g1 e &1 et
RS B! Agwl ga-1 geradt, ga-it erfadt iR ga-it guraad gt @ for Iud wwA «ar argym, Fan
FITGUTHT 3R FAT 3= ST BT HINT § BT TG g3 UdId gheil &1 37 BIS UTT fooy TEY, Paa SR $t
W HIWT 8 ST gl

S TR B UGHI A I T YA BT I<ik 13T
WR: U9 & WRIT 09 AR g1 T Hed10T HIP 7 §id 32
1. IRpd

2. 3faaRd

3. fa¥qa

4, g

Correct Answer :-



faen, wa, wfaan, @ifgw, o= 3R o & ft ST #1 Jwar siftre Saifasasdt 31 SmeRor &Y gwgar &t
T HIP b ST et Iemme & faat ur ot Sraem wycd ST0T Gohat 31 39 9T & 3= @ &,
aifge, ok wifta &) srgya fufS v gt 81 3T 3 qg @Y wiran @; e &1 T Re-aa ga wmar g,
R-&a1 BT W4 AT SATY T 14T 3; 9T gU 81 9aT 8; AGd B A@H1 ¥ STt §; gl a9 ard &
T 8 U, T 7949 R T B3 1 exa Sufyd 3t 9rar 31 STeRor S GagarTg YT Jer i gt
21 39 HTHT &7 fravg Y xaa w3 arar 31 590 AraET F forg oft vreg Y| g8 SwreRr Arg Sear gan
Wt o= B, srmen 3ar gom WY sarer & Wi fsur 8, T e g oft 3 & R F oftar vsT 81 9g a9l
o1 o™ & TR $1 Tgar I FU A Gt g3 71 THaT, 491, W 3R ISRl U & 0T FRITART Bt
Wﬁ%ﬁ;@ﬂ%lﬁﬂ%vﬂﬂwﬁﬂmmumﬁmﬁﬁm%aﬁ?wﬁmmw
3T Y SIrar 81

T ora, | Hian, 7 o, 9 9%, 7 gdf, 7 ufid, 7 3@, T <féoh, 9-am, 3-fm, 3-aem, e
STHT & TRV F WA Foft, GiRr Te1 yamia g w<t 8; 39S W9 A UG 99 3R ufaar-ef anr
ST BT HedTul B [IEqd 1d ¢ | §0D! SUTRUTT | 77 3R TaU B Hg T ord & | oigur TRt § wret
YA R TR & BT Gl DI qaraiat A Mad gt 1 § | AT~ IRG Hg TR §C IV ST
FIUHY e IHd By B AT BT UM $IA 8 | TR b AT & TH Y A Td W F A7 ¥ oma 7
STERYT & 3MTHG-J A IHGW] grpx geil iR udal 9% & geu To7 H1 T4 8 | TRV F T AR
Y IS $1 TP 471 Sfta+T U il 8| -1 faaR w9 81 udhe g4 @rd € | g@ &1 9994 g gX 8l
a8 1 g@ Ul § 5 WX 3mar 81 78 A e §1 oo verdt & a1y e Tar a5t-ume we usar 31 g,
e, dTg, Yo, URR, 9T, UTd, =R, Y 3R aTa0% d A U 3rYdyd G qfd P o9 g1 avrd &1 diwsd
RS $I ggwl ga-il garadt, ga-it srfadt o sa-t yuraasd gkt 8 for Iud Jw= a1 ArgyTT, Fan
FITGUTHT 3R FT 3= A BT HINT UG BI TG g3 UdId ghail &1 3T B UTe fooy e, Paa SR i
I HIYT 8 STadiT 1

IUYT TR B UGHR 14 Y& T U $T Ik qa13¢|
= faen, o, sfaan, Tt @ siftre saifosrd «ar 82
1. Rie[ardt Fagar

2. TOIQl-BRId
3. 3{TRUI D] Il

4, HIAYTCTiRT &1 gaadr

Correct Answer :-

o 3SR B JHIdl

25) faen, a1, wfaar, "iitd, v iR Iora F ot MR 9t g sifte safasadt 81 smaRor &Y
AT B U ISP b SIS et el & faal ur oft Sra=im wycd 19T gebat 31 39 99dT & e d
Fal, At 3R Wifta & srgya fifS wre gt 81 31 3iftres qg &1 e 8; faen &1 et Ra-A7 ga
1T 8, FRIF-Fa &1 WF I0T S[AT9A & SITdT 8; I941 99U 81 ol §; aa® Bl @it 4F ordl §; gl a9
A & A T FUE, T 799 3R T B3 o1 exa IufRyd g 14T 31 STERT B HIGarTg YT Her
A gt 81 39 UTWT BT FU0g 3 XA A aren g1 390 A & e oft wreg =E a5 JwrRr A
Fear g Wt A 3, e ¢ar gom ot e & Wi fisur 8, ¥nT mar gem o I & R & iR usT 3
g a1 @1 T ¥ Smerur &Y Gy 119 ©U F Geit g3 31 79aT, 4T, W9 3R IGRAT 99 & 9
TR BT UTHT & T ARSI 8 | AT & Sita+T UR W SRS BT YHTT "R ghar 2 3k g3t
SATHT HT TH 3T B o1l B

T ora, | Han, 7 g, 9 9w, 7 gdf, 7 ufid, 7 3@, T aféoh, 9-am, 3-fm, 3-aem, e
T F TRV A W ol GOfRr Ter wnie g wt 8; 39% M A Wgd 99 3R ufasrar-enf ar
ST BT HedT0l B fIEqd 81d ¢ | SHDT SUTUTT | 7 3R TaT B Hg T oTd ¢ | Hg0r TRt § wret
YA fRT TR & HTA FIgal B Jarardt A Maa gt o1 § | AFEE~ IR By TR g BV TP
TIUHY e IHd By P TG BT UM Hd 8 | TR b AT & TH g A Td W F A7 fi 9ma 7
TRV & G-I A I b geil 3R uddl 9% & gad T B T 8 | TRV & T AR
A AT B TP 4T Siia U gl ¢ | TA-14 R & € whe 811 @7 €1 G@ Ies Faqd € e¥ g



WTd 81 g@ Ul § 5d YR 3T 81 794 A7 fed €1 oo verdt & ary v T $5t-umd Be usar 31 9,
o, 91, W, URR, 919, UTd, 7R, AR} 3R 914 d@ # Uh AYdyd e qfd & =i g1 aid &1 HiFwut
RS B! Tgwl ga-1 geradt, ga-t srfadt iR sa-it guraasd gt @ for Iud WA« argym, «an
FITGUTHT 3R FT 3= AT BT HINT UG BT TG 3 Udlid il &1 377 BIS Ut faoy 1eY, Paa SR 5t
WA HTaT € $RadiT B

ST TR P UgH? 12 IR T U= $T Sk ga1gq|

W= e Rt | S YA SRy SmeRor & fb o A <hae 8 9 82
1. gl e ¥

2. QT fRaeH 9

3. IRgH-Uel
4, BT A6l B garaial o

Correct Answer :-

. &1 JGal &I deraiel o

26) faen, a1, wfaar, Tiitd, ¥= 3R Iora F ot MR 9t Tt siftre sEfasadt 81 smaRor
FIAT B U HIP b SIS et el & faat ur ot Sraein wycd ST Tehat 31 39 a1 & e[ 3
T, Tifgd, 3R Wifta &1 srgya il v gt 31 31 31 g 81 5irar 8; faen &1 vt Re-aa ga
ST 8, %1 &1 |9 I STy o ST 2; 991 99 gl §Tdl 8; d@e B aat 3w ord) 8; 9 a9
A & JTHA T U, T8 797 3R T S &1 T IufRud €1 SI1aT 21 SITERT $ AT YT JeT
T Tl 31 39 UTT o1 frevg Y xad U= ot 31 598 A1 & e off zreg | a5 wwameRur Arg
Hear gom Wi T 3, sarene 3ar gom WY sarerH & Wi fsur @, <1 e g Wt I F R F v vsT )
g a9 @1 T ¥ Smaror &) G 99 U et g3 31 7T, 4T, U9 3R IR 99 & 99
YRR $1 HTYT & M ARSI & | A & oita= UR {19 SRS BT YHTT R gt 8 3k 39t
S{THT BT TH 37T B STt g

= @1a, 7 e, 7 dtan, 7 9%e, 7 gdf, 7 9fdEh, 7 3@, 7 gféoh, 3-am, 3-fwm, 3-uem, fawma
T & TRV A WA Foft, GiRy Fer yemia gom w-<t 8; 39 19 A ugd 99 3R ufasrar-ef anr
S BT ST IS 3G 31 & | THPT SURUTY | 77 3R T 3 g Iaa o1a §1 oiteor Reft @ 1t
YA AfdT SATERYT & BT FTGa! Pt garaia I e g) 9 § | AFHa—~ IRE Fg FAGR §¢ TV B
T e ad By B 3G BT U Hd ¢ | TR & A7 b Th 31 & 7 WX & A7 T o 81
STERVT & 3MTHG-Id A I b geil 3R udal 9% & geU T H1 T4 8 | TRV F T AT
Y IS $1 T 471 Slia+T U i1 8 | T3-- faaR w9 81 ude g4 @rd € | g@ 3156 9994 g gX 8l
a8 1 g@ Ul § 5 UR 3imaT 81 78 A7 fred §1 oo uerdt & a1y v a1 at-ura we usar 31 g,
Wd, 9y, I, URR, 919, UTd, 7R, AR} 3R 9766 d@ # TP AYdyd e gfd & =i g1 e €1 et
RS H1 Agwl ga-1 geradt, ga-t srfadt v ga-it wumaad gt @ for ITd [wa . argymT, Fan
FITGUTHT 3R FAT 3= AT BT HINT UG BT TG o3 UdId il &1 37 BIS UTwT fooy e, Paa SR 5t
H yToT 8 $xaa 71

S T B UGHR - I T YA BT Ik 13T
UT: o UeTdT & 1Y T 791 B IS 82

1. JF-Y1G

2. Q¥ Hid

3. - ut@

4, q] Hiq

Correct Answer :-



27) faen, @, wfaan, aftw, o= 3R Tora J ot smaRur #t wwar e saifasdt 81 smeror #t
Il B YT HIP TP HITe ATt Iremait & fal uv off Sru=r wycd ST Hhdl 81 59 93dT & o9 4
Fal, Aifed, 3R Wifta B srgya fifS wre gt 81 31 3iftres gg &1 e 8; faen &1 iRt Ra-A7 ga
ST §, Rrsi-ar &1 |91 307 a1y o STl &; e 99 8 SiTdl 8; 9@ 3t @t 4| et €; qfd a9
I F JTHA T HU, T8 T97 AR T B B1 w7 IufR 81 T1aT 31 TR B JGARTT UTHT Tl
T TE<t 81 39 UTWT $T Fravg Y xad T a1 31 399 ArET & fore off =reg =18Y 1 g |gvarervr A1
Frar g ft M= 8, sarer Sar go ot e & Wi fisur 8, ¥ mar gem W I R F iR usT 31
g a9+l @1 et # Smaror &Y G 49 U | gelt §3 31 79T, <41, U9 3R IRA1 99 & 99
TR P YT & HF S & | % & Siia- IR W ARSI &1 YHTa FRRumdt giar 2 ik Saat
SATHT HT TH 3T gl o1l B

= 1a, 7 e, 7 9@, 7 9%e, 7 gdi, 7 ufdef, 7 3@, 7 gféoh, 3-am, 3-f=m, 3-uem, fawma
STHT F ATEROT A WA = ofl, JOiRr Ter wanivd gon #dl 8; 9P 99 | vya 99 iR ufasar-enf ar
SRTd BT Hed10l B fIFgd ghd ¢ 1 39! SufRIfa @ 7 3 gay $ Bg 9qd o1d ¢ | digur el & ored
YA TR TRV & BT dIgal DI eraiat A Mad gt 9 § | AR~ IRG Fg FAGR §T TV TSB!
T e a¥id By & 3G BT U Hd & | TR & 47 &b Th 31 T d WX & = T o €1
TRV F 3THE-Jd T IHIW] grh g&il 3R udal 9 & ged ToT H1 oid &1 SR & W AT
A U B TH AT Sita- YT g1t 8 | -2 faar W € uebe 811 @ d 8 1 4 $Ise I9qa gl g gl
ST €1 g@ Ul § S UR 3T 81 798 A7 e 1 oo uerdt & 91y v a1 At-umd Be usar 81 g,
W, 919, T, URR, ¥R, UTd, 7R, A1 3R a1 a9 & TP AYgayd e it & o= g1 @ &1 At
TSI B Tgwl ga-i1 geradt, ga-it srfadt oiv sa-it gumaasd gicht 8 fo Sud WA w1 argum, Fn
TIfgHTT 3NR FT 3T S/ Pt YT 99 P TG G UdId Sieil & | ST HIS UTWT feaq Y, Faa Smeror &
W UTaT § $RadT B

S TR P UG -1 IR T U= $T Ik a1gq|

UR: 9 GWIAT & SR04 A FaI, g, R Wiid Bl F1 9T gt 82
1. 31gyd Rifs

2. Yl

3. I AT
4. T AU

Correct Answer :-

. 3fgyd Rifg

28) faen, wan, wfaan, Tfew, ¥= 3R Tora J ot R Ft wwar iRt ot 81 smaror #t
T DI YT HIP TP I 1T Irarat & faat uv WY Sru=r yyc o1 Ihdl 81 59 99T & o o
T, Tifgd, 3R Wifta &1 srgya fafS v gt 31 I 31 g 81 5iman 8; faen &1 vt Re-ma ga
ST 8, RE-oar 1 /9 I0T ST o SITdT §; 91 99 8 ST 8; dEd 3 el 4¥ ST 8; qfd a7
A & A T HUE, T3 799 R T B3 &1 g IufRyd g SIrar 31 STERUT S GIgarTg U [T
T Tl 31 $9 UTT &1 fr9vg Y[ xad U= arern 3| 398 Araus & fore off zreg 181 a5 wwameRur A1
Far g ft M= B, sarer Sar go ot e & Wi fsur 8, ¥ mar gem W I R F R usT 21
g a9+ @1 et ¥ Smarvr &} G 99 U § gt g3 31 7T, <41, U9 3R IRAT 99 & 99
TR BT UTHT & W9 ARSI 8 | IS & Sita+T UR W SRS BT YHTT R giar g 3k saa!
STHT HT TH 3T g o1 B

= 1a, 7 e, 7 dtan, 7 9%e, 7 gd, 7 ufdeh, 7 3@, 7 <féoh, 3-am, 3-fwm, 3-uem, fawma
STHT & TR F W =oft, iR TaT e goim Hel §; 39 W9 A ugd U9 iR ufaar-ud 9
TG BT BTV P faGgd Bid 8 | 39! U A 77 3R gau o1 B 9¢a w1d 71 eor =t F wa



YA TR TRV & BT Gl DI qarait F Mad gt SITd § | AT~ IRG Hg TR §C IV §HDT
T e ad By P 3G BT U Hd ¢ | TR & A7 &b Th 31 & 7 WX & 7 T o 81
STERVT & 3MTHG-Jd A IHGW] b geil 3R udal 9% & geu T H1 T4 8 | TR F T AT
¥ A &Y TP 1471 Siig- YT gl 81 TA-12 fauR ad € yee 81 @ €| G 156 9994 81 g &
a8 1 g@ Ul § 5 UR 3mar 81 78 A fed §1 $a verdt & a1y v a1 85t-ura Be usar 31 g,
Wd, arYg, I, URR, 919, UTd, R, AR} 3R 976 d@ # U AYdyd e gfd & =i g1 e &1 et
RS 1 Wewl §a-11 gaadl, sa-1 srfadt 3R sa- wHTaad! gt @ for IUS JTHA a1 ATGHTT, FaT
FITGUTIT 3R FAT 3= A BT HINT UG B1 G 3 UdiId il &1 37 BIS Ut fooy 1eY, Paa SR 5t
W= YT g $%adig B

ST TR HI UGH -1 T T Y= T &k qarsy|
W=: HIF ARSI ST YHTE T gl 82

1. YhRIHSDP

2. FeRredt

3. APRIHD

4. 3Tt

Correct Answer :-

29) faen, a1, wfaar, Tritd, ¥= 3R Iera | ot MR 9t gagar siftre safasadt 81 smRor
FIAT B U HIP b ST et Iremmai & faal ur ot Sra=ir wycd 191 gehat 31 39 99aT & e A
Fal, At 3R Wifta o srgya fafS wre gt 81 31 3iftres 9 71 e 8; faen &1 iR Ra-A7 ga
ST 8, AP 1 &1 {9 IR STy o ST 8; 99T U g §Tdl 8; ae B At 3w ord) ¥; i e
A & JTHA T U, T8 799 3R T ST *1 220 IufRud 81 141 21 SITERT $ AR YT el
W TE<t 81 39 UTT HT Fravg Y T W arer 31 399 A & fore off wrsg 18Y 1 g gvarrvr A1
Hear gom W A 3, srren ot gon Wt sara & i fsur 8, T e g W I F R F Mar vt B
g ga-l 3t feTa ¥ TeRvr HY Grgdt Hi9 FU A Gl §5 8| 7941, 41, 99 3R IgRaT 99 & 99
IR H1 HTWT & HH RS 8 | A & Sita= WR HIH SRS BT YHTT R giar 8 3k 39t
S{THT BT TH 37T 8 STt 8

T ora, | e, 7 g, T 9w, 7 gdf, 7 ufid, 7 37, T <féoh, 9-7m, 9-Fm, s-aem, wna
STHT & TRV H WA FRoft, GAiRr Ter yaia gm wt 8; 39S W9 A Ugd 99 3R ufaar-ef anr
SR &1 HedT0] Heh [IXIA B1d § | ! SURRUFA A 7 3R gaU B Bg da WI1d ¢ | d1g01 A F w1t
YA HTHT TR & HTd ATedl @I Jeraidl A frad gt oIrd § 1 AFAE~ IRG By AR §U TY TPt
YT e aRd By P 3G BT UM Hd ¢ | TR & A7 b Th 31 & d WX & A7 T ora 81
JTERVT & 3MTHG-Jd A IHGW] grpx geil iR udal 9% & geu T H1 T4 8 | TRV F T AR
Y IS B! T 971 Sita+T U il 8| T3--1 faaR a9 €1 ude g1 @rd € | g@ &5 99qd g gX 8l
a8 1 g@ Ul § 5d UR 3T 81 74 A7 e 1 oo uerdt & ary v T $5t-uma we usar 31 9,
e, a1g, Yo, URR, 9T, UTd, =R, 7Y 3R aTe7e d A U 3rYdyd Gax qfd & o9 g1 v &1 diwedl
RS BI ggw1 ga-il garadt, ga-it srfadt o sa-t yuTaasd gt 8 for Iud ww= a1 argyTT, Fan
FIRTGUTHT 3R FT 3= AT BT HIT UG BI TG g3 U1 gl &1 3T B UTT foo e, Paa SR $t
I HIT 8 STadT 81

S T B UGHR - I T YA BT Ik 3T
W STAROI Bt [T A 17 71 & forg ot wm =16t g2
1. 3%
2. 4

3.9



4, Qo

Correct Answer :-

30) faem, @, Hfaar, IR, o= 3R ToRa A ft R Ft waar e saifasdt 81 R #t
T B YT HIP TP HITe ATt Iremait & faal uv off Sru=r uycd ST HhdT 81 59 93dT & o9 A
Fel, Aifed, R Wiita B gy i wred gielt g1 I 3if¥es qg 71 &iren &; faen &1 e Ra-a7 ga
ST §, Rrsr-ar &1 |91 307 ey o STl &; I 99 8 SiTdl 8; 9@ 3t @t 47 et €; 9 a9
I F JTHA T HU, T8 T4 AR T Bfa B1 Txa Ul 81 T1aT 31 TR B JIGATTT UTHT Tl
U TE<lt 81 39 UTHT HT Fravg Y xad T a1 31 399 ArET & fore off wreg =18Y 1 g |vareror Are
Frar g3 ft M= 8, sarer <ar go ot e & Wi fsur 8, ¥ wmar genm W I R F iR usT 31
g a9+l @1 et # SmaRvr &t G 49 U 9§ gelt g3 | 7T, <41, U9 3R IRAT 99 & 99
TR T YT & HF A & | 7% & Siia- IR W ARSI H1 YHTT RRumdt gian 2 ik Saat
SATHT HT TH 3T g o1 B

T 1a, 7 e, 7 9@, 7 9we, 7 gd, 7 ufdel, 7 3, 7 gféoh, 3-am, 3-fwm, 3-uem, fawnma
STHT F ATEROT F WA o}, JOfRr Ter ganfvd gon wdl 8; 9P 99§ Uga 99 iR ufaar-enf ar
SRTd T HedT0l B fIFgd gid ¢ 1 39! SuTRIfa @ 7 3k gy $ Bg 9q0 o1d & digur el & ored
YA AR TR & BT 1@l DI Jeraiat A Mad gt A1 § | AR IRG By FAMGR §T TBY TSB!
YT e a¥id By b 3G BT U Hd & | TR & 47 &b Th (Y T 1 WX & =7 T o €1
TRV F 3THE-Jd T W] Erh g&il 3R uddl 9 P ged T HI1 d ¢ | TRV & W AT
A U B TH AT Sita- 9T g1t 8 | -2 faar Wi € uee 811 @rd € | @ 3156 T99d gl g gl
ST €1 g& Ul § S UR 3T 81 78 A7 e 1 $o uerdf & "1y v T A5t-uma we usar 31 g,
W, 919, T8, URR, ¥R, UTd, 7R, A1 3R I a9 & TP AYayd e qfd &b o= g @ &1 At
RS B1 Tgwl ga-1 geradt, ga-it srfadt oiv sa-it guraad gt 8 for ST wmw= = argum, F&n
HITGUTHT 3R FT 3= 3 BT HINT TG B1 Ta G0 UdId il &1 3T BIS UTeT foo e, Paa SR $t
W U1 § $RaT B

ST TN DI USH A YD T YA BT S@¥ 9d1s¢|
WRA: STERON Pt JaT I I &1 71 o oran 32
1. SFETT

2. oAt
3, IR REAT

4. O 3@
Correct Answer :-

. dR1RE-Aa

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects in
the space emitting radio waves.



When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low on
the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even remove
some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After they cut
down the trees they discovered that the source was emitting a large amount of energy and an
unusual spectrum, this added further mystery of what these objects were.

In this passage, took charge means:
1. Took some order

2. Took in some electricity

3. Took control of something

4. Paid a price for something

Correct Answer :-

» Took control of something

2) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects in
the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low on
the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even remove
some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After they cut
down the trees they discovered that the source was emitting a large amount of energy and an
unusual spectrum, this added further mystery of what these objects were.

In this passage, entered the scene means:
1. Created a scene

2. Acted in a scene

3. Become involved in something

4. Entered a picture

Correct Answer :-

e Become involved in something



3) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects in
the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low on
the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even remove
some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After they cut
down the trees they discovered that the source was emitting a large amount of energy and an
unusual spectrum, this added further mystery of what these objects were.

Why did Bolton and his colleagues cut down some trees?
1. To build furniture for their observatory

2. To get better radio signals from the celestial objects

3. To get a better view of the observatory

4. Because they used them to build the telescope

Correct Answer :-

» To get better radio signals from the celestial objects

4) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects in
the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low on
the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even remove
some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After they cut
down the trees they discovered that the source was emitting a large amount of energy and an
unusual spectrum, this added further mystery of what these objects were.

Allan Sandage and Thomas Mathews discovered
1. objects in the space emit radio waves
2. objects in the space shined brighter

3. objects in the space grew bigger



4. discovered a new planet

Correct Answer :-

e objects in the space emit radio waves

5) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’'s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“Squishy and squashy — the best of friends”. ..
The figure of speech used is

1. repetition

2. simile

3. alliteration

4. metaphor

Correct Answer :-

o alliteration

6) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.



Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside
The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

What would be the antonym for bestest friend?
1. enemy

2. unknown

3. kin

4. playmate

Correct Answer :-

e enemy

7) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,
As you can see, squishy unexists without squashy

And the same, as the case is reversed.



For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“The skin feels squishy squashy with too much of flab”... The word flab means:
1. blood

2. fat

3. muscles

4. nerves

Correct Answer :-

o fat

8) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’'s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“You feel squishy squashy after over-eating...” One word to replace the words in bold letters is:

1. satisfied



2. good
3. sick

4, wonderful

Correct Answer :-
e sick

9) Read the sentence carefully and choose the option that has an error in it:

As you have known, we have purchased a substantial number of machines from your company in
recent years.

1. in recent years.
2. we have purchased a substantial number of machines
3. from your company

4. As you have known,

Correct Answer :-

e Asyou have known,

10) Read the below sentence and fill in the most appropriate suffix:

It is important for professionals to change their stress-- life.

1. --ful
2. --ing
3. --ed
4. --free

Correct Answer :-

o --ful

11) Fill in the blanks with the most appropriate prepositions in the given sentence.
They decided to resolve the conflict _ them and leave their differences

1. by, back

2. between, behind

3. for, from

4. with, for

Correct Answer :-



e between, behind

12) Fill in the blank with the correct option in the given sentence:

He works for a --national company, which has its head office in London.
1. bi--

2. anti--

3. uni--

4, multi--

Correct Answer :-

o multi--

13) Fill in the blank with the correct option in the given sentence:
Students who feel ___ do better in schools.

1. confide

2. confident

3. confidence

4. confidentially

Correct Answer :-

o confident

14) Choose the right tag:

All dogs are faithful, ?
1. haven't they

2. aren't they

3. are they

4. don't they

Correct Answer :-

o aren't they

15) Choose the option that substitutes the given phrase appropriately.
A person who leaves one country to settle in another

1. Refugee



2. Immigrant
3. Emigrant

4. Asylum

Correct Answer :-

e Emigrant

16) Change the given statement to indirect speech.

She said to the class, “You will have a test next week.”

1. She said to the class that they will be having a test the following week
2. She said to the class that they would have a test the following week.
3. She said to the class that will have a test next week.

4, She said to the class that would have a test next week.

Correct Answer :-
 She said to the class that they would have a test the following week.

17) Choose the appropriate antonym for the highlighted word in the given sentence.
There are striking similarities in the verses of three composers.

1. Divergences

2. Digresses

3. Disturbances

4, Distractions

Correct Answer :-
» Divergences

18) Choose the appropriate prepositions for the given sentence:

My son broke the glass the front door when he was angry his sister.
1. of, with

2. for, with

3. 0n, by

4. by, of

Correct Answer :-



19) Choose the appropriate conjunctions for the given sentence:

I may be slow in doing the work __ there will not be any mistake of my perfection.
1. either, or

2. and, because

3. but, because

4. not only, but also

Correct Answer :-
e but, because
20) Choose the appropriate pronouns for the given sentence.

Being a shopaholic ’ was very excited to hear about the new shopping
mall.

1. myself, |
2. their, themselves
3. himself, his

4. ourselves, our

Correct Answer :-
o myself, |

21) Choose the appropriate option that rewrites the given sentence in its passive voice.
Book lovers from all over the world thronged the World Book Fair.

1. The World Book Fair throng the book lovers from all over the world

2. The World Book Fair has been thronged by the book lovers from all over the world

3. The World Book Fair was thronged by book lovers from all over the world.

4. The World Book Fair was being thronged by the book lovers from all over the world.

Correct Answer :-
o The World Book Fair was thronged by book lovers from all over the world.
22) Choose the appropriate tenses to fill in the blanks in the given sentence:

I for Dubai three years ago for my higher studies as it my dream.



1. left, was
2. have left, will be
3. had left, has been

4. leaving, is

Correct Answer :-

o left, was

23) Choose the appropriate synonym for the highlighted word in the given sentence.
Persistence is an important part of success in any profession.

1. Impatience

2. Loyalty

3. Determination

4. Frustration

Correct Answer :-

e Determination

24) Choose appropriate articles for the given sentence:

My best buddy got jobin MNC Company located in outskirts of Bangalore.
1. the, the, no article required
2. a, an, the

3. an, no article required, the

4. no article required, the, a

Correct Answer :-

25) Choose an appropriate modal for the given sentence:

Last Saturday, Sangeetha confirmed that she help me in my project.
1. should

2. may

3. might

4, would

Correct Answer :-



26) Choose the most appropriate determiner in the given sentence.
Sita will be celebrating her birthday in August.

1. sister

2. fiftieth

3. thirty

4, best

Correct Answer :-

o fiftieth

27) Choose the option that best explains the highlighted expression:
Get a move on, you will be late for school.

1. Move slowly

2. Hurry up

3. Move away

4. Move quickly in your vehicle

Correct Answer :-
e Hurryup

28) Choose the option that best explains the highlighted expression:
The recent events have all the makings of a big political scandal.

1. to have the qualities that are necessary to become something

2. likely to go into

3. likely to destroy into

4. likely to spoil into

Correct Answer :-
» to have the qualities that are necessary to become something

29) Choose the option that best transforms the sentence into its Indirect form:
“Do you want tea or coffee?”

1. He asked me that | wanted tea or coffee.



2. He asked me if | wanted tea or coffee.
3. He asked me which | wanted tea or coffee.
4, He asked me whether if | wanted tea or coffee.

Correct Answer :-

e He asked me if | wanted tea or coffee.

30) Which of the following options best combines the given two sentences?

I drop this glass. It will break.

1. I drop this glass, but it will break.
2. | drop this glass, yet it will break.
3. Dropping this glass, it will break.
4. If | drop this glass, it will break.

Correct Answer :-

« If I drop this glass, it will break.

Topic:- Science (SCI)

1) Why are large poultry farms constructed? /
93 $Ipc B &1 (ator 41 fbar srar 82
1. To raise broilers for chicken meat in large numbers. /
i A & g S1fiids TRedm A siiger & g1a- 84|
2. All the above facts . /
SWRIed a4l 7
3. To develop very good hatchery for egg layers, in large numbers. /

To! U1 H 387 ¢ & ol 98k M &1 [dh ™ S & el |

4. There is low maintenance requirement for developing poultry. /

PHIH U & [dbT o ol 9 I/RA@1a B STa=gehdl 84|

Correct Answer :-

« All the above facts . /

SWRIgd g+t d



2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the
total mass of it is 88 amu, what are the masses of Fe and S? /

Tfe MR APIZS (FeS) T TUR (Fe) 3R B (S) & 19 SHAT BT 3JUTT 7:4 8
3R 3BT $A THAT 88 UIHIY] Hefd ATAP (amu) 8, A1 Fe 3R S & SHHT FTE?

1.Fe =74amu & S =14 amu
2.Fe =72amu & S =16 amu
3.Fe =56amu & S =32 amu

4. Fe = 50amu & S =38 amu

Correct Answer :-

e Fe=56amu & S =32amu

3) Written examination is a/an of evaluation. / fufaa tlﬁ&‘lT, H\FQTFT G| Th
___ =l

1. implementation / Hag
2. System / U]

3. function / Eb—l'zf

4. technique / GERIGY

Correct Answer :-

o technique / db-idh

4) To have a productive and engaging science learning experience, for children
and adults alike, they can conduct small experiments with guided instructions, like
identifying rock specimens, watch insect metamorphosis, demonstrate chemistry

reactions, etc. This method involves? /aa‘raﬁ?auwﬁasm, Udh JUIgdh 3R
Yo fagT it &1 sqya a1 & forg, 3 AR e & ary sk

WA &1 TATA B ADd 8, O D Al Dt Ugar BT, Bie
BRI ST, IR Sfufeprarseii &Y uefia &=, anfe | 59 fafr o
NS T 82

1. Science Kits / [a3H fobe

2. Research Laboratory Experiments / &[ﬂﬂ?ﬂ:[ OINTRITAT U
3. Observatories / YRITATY

4. Peer-to-Peer Teaching / qehHI-U-TgHH] TRIef0T

Correct Answer :-



« Science Kits / ﬁ?ﬂq fbe

5) In the winter season, two thin blankets placed one over the other are better than a single
blanket of same thickness because: /

el & TR ¥, 31 Uad Had TP ga & SHUR W Td 3, Sifes 3 M ard U
Had I 95X 8id & HFifh:
1. The air in between the two layers will absorb more heat energy from the atmosphere /

& URdl & S &1 ga1 agHSd ¥ SIS SHEAT Sl b Sa=NNd B |

2. The air in between the two layer acts as a conductor /

3 IRd & dIF P 841 U Yalgd & =0 § B il g
3. The air in between the two layers acts as an insulator /
3 IRdl & o9 B g1 U faared &1 HTH &l 7

4. Thick blanket absorbs more heat energy from our body /

A Had gAR IR Y TS T FHoll bl ATV PR 8l

Correct Answer :-

» The air in between the two layers acts as aniinsulator /

3 IRl & d1F B! g1 U faHaTg® BT HIH Hal g

6) What happens when a body covers 2m in every one second along a circular path? /

gfe e T, TUTPR U4 IR YAS b s | 2 Hiex &1 gl aa Hvar g, d) &1 gia1 82
1. The body has non-uniform speed. /ﬁmﬁwﬁ“\f—w%l

2. The body has uniform velocity. /WW%‘TW%I

3. The motion is called non-uniform circular motion. /TlﬁfﬁﬁT-HHH CIEdR Tt h ol Sldl %I

4. The motion is called uniform circular motion. /Tlﬁfﬁm'ﬁﬂq CRICIN Tfd dhel Sldl %I

Correct Answer :-

- The motion is called uniform circular motion. / Tl 1 THIHM GAIHR T BT AT & |

7) The physical quantity which has the unit N/mZis: /

Wi arm Rt 58718 N/m2 B 2

1. Force / dd



2. Density / 9-dd
3. Acceleration / X UJ
4, Pressure / qdId

Correct Answer :-

e Pressure / qdld

8) Sign langue is developed for: /
Hicsfad yar e 3 & feaas forg fasfa &t 78:

1. The mentally retarded children / AFRI® ¥4 ﬁ ObJ-I\TI\N qu%m

2. The people with impaired hearing/a_tﬁ

3. The children with high 1Q / 3=d fg U dTel gl o forg
4. The blind people / 3

Correct Answer :-

o The people with impaired hearing/aﬁ

9) lodine test is conducted for detecting: / SIS U &ur fhTeT udt a1+ & ﬁnz far
T &:

1. Starch / @9

2. Sugar / DI

3. Protein / IEG
4, Glucose / ’Ffﬁ\_rf

Correct Answer :-

« Starch /Eﬁf

10) What are the two necessary conditions to be satisfied to say that work is done? /
g Hg+ & Y fp ord Wua 31 g7 €, & Ta=a 2 H1 82
1. Initially the body should be at rest and there should be an expenditure of energy. /

3RH # e ! fagmawun & 81 =1t iR Suif &1 oag g1 A

2. There should be a force acting on the body and there should be a displacement in the direction
of the body. /

Hopr IR 9 SRR g1 T1feT 3iR e &) fewn # fawirg= g anfgul




3. There should be a displacement for the body and there should be an expenditure of energy. /
YT &1 faRiTue 811 A1feT 3R Sl &1 o9 g1 AT |

4. A force should act on the body and there should be an expenditure of energy. /

TS 99 T IR BRI 811 AT 3R il &1 399 i1 91T

Correct Answer :-

» There should be a force acting on the body and there should be a displacement in the direction
of the body. /

NPT IR 99 SRR 1 18T iR e & fewn # fawirg= g anfgul

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5
hours? /

wﬁﬁmﬁmlooowmmﬁlsﬂﬁﬁwﬁnﬁwﬁﬁw
1 giil?

1.1.8x107)
2.1.8x103)
3.1.8x10°)
4.1.8x10°)

Correct Answer :-

. 1.8x107)

12) |n a lake, Maria swims 60m in half minute and returns to the starting point along the same
path in another half minute. Find her average speed and average velocity./

TS oita #, Frivar 3nd fiFe | 60 Wier aredl 8 ofR o=y 3el fire ¥ it |t & smmfie
fig WR die 3t 31 ST oivra Tifd iR Sfira avT 1 B3|

1.2m/s & 0 m/s /2 HIcx/A&HS 3R 0 Hicx/AdHs

2.2m/s & 12 m/s / 2 HeR/AHS 3R / 2 Hiex/Ads
3.0m/s & 2m/s / 0 Hicy/Ads IR 2 Hiex/Ads
4.12m/s & 2 m/s / 12 Te/AHS 3R 2 Hey/AHs

Correct Answer :-

e 2m/s &0 m/s /2 Hiex/Adhs 3R 0 Hiey/Ahs



13) The period of a pendulum at a place depends on the: /
el UM R te Ugaw ot srafy 39 wR Ak ol 8
1. Mass and length of the pendulum /

IS H1 SHM 3R ddTs

2. Mass and acceleration due to gravity at that place /

SR W {lbcdlcblfUl & PHRUN GH 3R @RI

3. Length of the pendulum and acceleration due to gravity at that place /
I W R [SATBY0T & HRU T 3R Rl H g

4. Length of the pendulum and shape of the bob /
Ygam & s IR e B Pl

Correct Answer :-

» Length of the pendulum and acceleration due to gravity at that place /

I WM R [SdlBY0T & HRU T 3R Rl B deTg

14) Which of the following is not an example for the potential energy? /

fFrafefad & 3 s fRufas Sl &1 ve e T8l 82

1. Energy possessed by a body inside a flying air craft. / Uch ds_(-'\l Sdl‘.f: SRS & 3R wﬁm
WWEG”I

2. Energy possessed by a body placed at a height. / U 3 alé R W e gRT U Fol|

3. Energy possessed by a.compressed spring. /WWWWW 3ol |

4, Energy possessed by a person lying on the ground. /WW@%@QW Hfad gIRT YTt Sl

Correct Answer :-

« Energy possessed by a person lying on the ground. /WW@%E’QW Hfad gIRT YTt Sl

15) In which of the following media, the speed of sound is maximum? /
Frafafea o 3 few arem o, afy ot wfa siftean gidi 82

1. Water / oIl

2. Aluminium /Q?‘I‘ﬂﬁ'ﬂﬂ

3. Air /dIg
4, Oxygen / ST



Correct Answer :-

+ Aluminium /Qﬂjﬂﬁﬂﬂ

16) Muddy water can be purified by /

Ufhet o1 1 $HS GRT Y5 fobaT oI Al 3
1. Loading / Al

2. Threshing / Il?ﬂ's‘

3. Sieving / dTcl

4. Winnowing / 3

Correct Answer :-

» Loading / cIqld

17) In the case of semiconductors, as the temperature increases, the resistivity ./

e & A #, S-S 99 96T 8, UfeRitedr. |
1. increases / 9l &

2. decreases / H BIdll &

3. becomes zero / I B Il &

4. remains constant / @R ?E?ﬁ %

Correct Answer :-

« decreases / PH Eﬁ?ﬁ %

18) Select the correct statement from the following: /

Fafafea 4 @ aft s s T ot

1. Unlike charges attract / faudta smowr st wed %I
2. Unlike charges repel / foudia emaw ufap g #d %I
3. Like charges attract / q4H T BT B %I

4. Charges on a body cannot be discharged / Udb d¥] UX JURYT 3TATN BT ﬁé@q '_‘lglf foar o
IHhdr gl

Correct Answer :-

« Unlike charges attract / [qURId T 3BT B & |



19) A screw gauge with nil zero correction gives the following reading when used to measure
the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions.
Given that Imm on main scale corresponds to 100 divisions of the head scale. The diameter
of wire from the above data is: /

YA GYR BT T WP 719 TP dR & ATH I 7191 & T ST & a o1 ®
Frafefaa ff$w ¢ar 81 e wue {fEw = o firndt sik 8 arue Hf$T = 52 @1 e
w%%%g@nwm1ﬁﬁ,%gm% 100 TSl & AT 3| RIS ST | dR B1
I 5:

1. 0.0052 cm / 0.0052 JH
2.0.052 cm / 0.052 A
3.0.26 cm/ 0.26 A

4.0.52 cm/ 0.52 QW

Correct Answer :-

. 0.052 cm/0.052 THY

20) Identify the acid present in red ants? /
aTet difedl d SufRd 3t H1 ugdr $1?
1. Malic acid. / HeiS S

2. Oxalic acid. / TpAfTD A

3. Tannic acid. / ¢ 3T

4. Formic acid. / BIH® 3

Correct Answer :-

« Formic acid. / BIH® 37

21) Identify the reaction/s in which physical state of a substance does not change during a
chemical change. /

39 sifufsrar &1 ygam, o Bt e ufvad & SR fft uerd &t wifas
fRufa 78 eadt 21

1. All of these / ST et Tt
2. Water is subjected to electrolysis to form hydrogen and oxygen /

BIESIoH 3R SHTRiTo a1 & o it &1 fagyd-sraee foar Sirar @

3. Mercuric oxide is heated strongly to from mercury metal and oxygen /



URT 4T 3R SRS §9H & 00 IRAEGRSD RIS ! Uaard I T [T ST 8
4, Magnesium ribbon is burnt in air to form magnesium oxide /

WIREA feaes g9 & forw Mfifmm Re= o1 gar & Siemar siar g

Correct Answer :-

« Magnesium ribbon is burnt in air to form magnesium oxide /

AREH feaes 991 & fore Sfifrs = ol gar & ST Siar g

22) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /

TS RO P HU B Mg 100 8 21 A HUA P 3rafy B:
1.0.1s/0.1 9bg

2.0.01s/0.01 YbS

3.10s /10 g

4.100s / 100 Ybg

Correct Answer :-

. 0.01s/0.0]1 AP

23) The trophic level of secondary carnivores is /

gifae wiETER 1 99U wR @
1. Third / AR

2. Second / g

3. Fourth / AT

4. Fifth / OT=al

Correct Answer :-

« Fourth /AT

24) The pressure excreted by the liquid at the bottom of a vessel depends on : /

TP I & da W aR gRT @1 7491 319 39 W AR seare:

1. Total area of the base of the vessel / &I & dd &1 Dol &A% |

2. Height of the liquid column present in the vessel / o # IufRyd R WY o1 IqdH dd|
3. Inner surface area of the vessel containing liquid / d¥¢f Yad CRREAREIRIRGD Uy &l



4. Shape of the vessel / g BT HTHR|

Correct Answer :-

+ Height of the liquid column present in the vessel / o 7 IuRYT RA WY BT IAdH dd|

25) Neutral compound/compounds among the following: /
e o Seriia e / diftrel 3t uga™ Fifv:

(i) €O, (ii) CO (iii) H,O (iv) CaO

1. (i) and (if) / (i) 3R (ii)

2. (ii) and (iii) / (ii) 3R (iii)

3. (ii) only / P94 (ii)

4. (i), (ii) and (iv) / (i), (ii) 3R (iv)

Correct Answer :-

« (ii) and (iii) / (ii) 3R (i)

26) Four identical vessels painted with four different colors are filled with water at 90°C.
Which of the vessel will have the least rate of cooling? /

TR T U IR 3@ T A 31 g7 3R 90° ARy araw= & a3 oR g4 21 forw
UE & fiad 84 ®1 & e g

1. Vessel painted with red / TTeT 91 3 11 ESUCIE

2. Vessel painted with green / WY ESURIE]

3. Vessel painted with black / BT T [ ESURIE
4. Vessel painted with white / BERURLI] g3l UM

Correct Answer :-

« Vessel painted with white / Jth& T 9 1 g3 T

27) Which among the following is a monobasic acid? /
frafafae ¥ 3 w1 v AR o @2

1. CoH40,

2. H,CO3

3. H3POy



4, H3PO3

Correct Answer :-

28) Which one of the following is not an alloy of Iron? /
fFrafafEa o @ w1 de @1 v Ryearg T8 82

1. Solder. / TIeER

2. Stainless steel. / ¥ Tldl

3. Alnico. / W
4. Nichrome. / frpTH

Correct Answer :-

« Solder. / A&

29) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.
ii. They can be degraded by micro organisms.
iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.

iv. They do not accumulate in nature. /

Srtafrdievoiiy rufy & IR A F9 AHYT TS 82
1. 9THTIG: {194 fAffa g 2

ii. I g&A oiial g1 FAdiea f&a o a@d g1

iii faerT SrctafEie v SRy Wy 4aer & Uas #d ¢ 3R 9 mat &vd B
iv. d Ui § Afad 8l sid |

1.7 and i /i 3R iii

2.iandii /i 3R ii

3. iii and iv / iii 3R iv

4. i and iv / ii 3R iv

Correct Answer :-

« iandiii /i 3R iii

30) Which of the following elements show malleability? /

fafafad # @ $19-91 99 smaraasd-iaar faamar g2



1. Phosphorous / T IEBIRY
2. Todine / 3G

3. Sulphur / Heh?
4. Zinc / [Siep

Correct Answer :-

. Zinc/m

31) World Environment Day is celebrated on? / ﬁ%{ TgiaRor ﬁ'ﬂ'ﬁ hd HATIT
SITdT 82

1. May 5 /5%

2.June 5 /59

3. September 15 / 15 RideR
4. April 27 / 27 30U

Correct Answer :-

« June 5 /591

32) Which physical property of Aluminium metal makes it possible for us to
make Aluminium foils to wrap chocolates, toffees and medicinal tablets? /

Tgfafa arg & frg Wifas uied & SR gH IS T diede, <rwt 3R
Stwda Ml & Tegfafaas ust 3marur & dR iR SR urd 82

1. Malleability. / SaTda=iaar

2. Good electrical conduction. / [dggd B! Farciehd|

3. Good thermal conduction. / 3SHT 1 FaTcTehd]
4. Ductility. / d=d1

Correct Answer :-

. Malleability. / STeTdae e

33) Which of the following statements represents the science manipulative skills

of a student? / U & | B9 I HY9 U B & QAT & Uga-g
PIvd (Ayafed ) o1 ufaf iR $3ar 82



1. The student can differentiate between two related concepts. / ST ol gefdd
SAYRUNST & S 3R B IHT 5|

2. The student can design a new experiment. / 9T U Y[ TN ESIEEREIES]

gl

3. The student respects his/her science teachers. / ST 30 fagm Rigfe! o1 v
ERGI

4. The student uses the equipment in the lab within their limitations. / ST 3o reff |
TEHR YANTRITA H IUHRUT BT JUUNT BT g

Correct Answer :-

. The student uses the equipment in the lab within their limitations. / BT 0= THT3 o
TEHR YANTRITAT H IUHRUT BT JUUNT BT g

34) Out of the following options, choose the incorrect statement? / fafafea

fAre A A, SRI HYF BT I Y|

1. Inductive method of teaching is a constructivist model of teaching. / fRrefor ot
3T fafd), fR1&for 1 U a1 AlSd o

2. Inductive method of teaching is more student-oriented. / fR7&071 1 3FTHA fafdr
fIH BHA-IIT &

3. Discovery learning theory promotes autonomy in learner. / 3=y 3T Rgid,
3Tl H Wadl &) deral edi gl

4. Deductive method of teaching progresses from a specific concept to the general. /

fRreor 3t fe fafYr, v fafRiy srauron @ g &1 3k sgdt g

Correct Answer :-

« Deductive method of teaching progresses from a specific concept to the general. /

fRreror 6t fare fafY), v fafRy srgumon @ 9 &Y 3R St g1

35) Write the given four colours in the ascending order of their wave length?
Yellow, Red, Green And Violet /

T T IR TN B It aETe e b THR ARG wH # fard?

1. Violet, Green, Yellow, Red /a'TFﬂ, B, tﬂ?ﬂ NI

2. Yellow, Red, Violet, Green /tﬂFIT, dld, a'TFﬁ, Bxl



3. Green, Yellow, Red, Violet / @XI, tﬁ?ﬂ, Td, CHET|
4. Violet , Yellow, Red, Green / éﬁﬁt, Tﬂ?ﬂ, oret, gxl

Correct Answer :-

» Violet, Green, Yellow, Red /a"“ﬁ, el tﬂ?ﬂ, NI

36) The SI unit of power of a lens is: /

T A Dt e 31 TH.08. PR &
1. Watt /dIC

2. Dioptre / STATPR

3. Joule/second / S[d/AdHS

4. Joule / 9[dl

Correct Answer :-

. Dioptre / SIER

37) What are the food requirements of dairy  animals? / SU<I q’*’{[\’rﬁ & Ui Bt
STIYH AT T 82
1. Mixed feed containing dry grass, grams and other roughages. /
T U, T 3R 3 Ae IR & Iiferd o Wi |
2. Nutritious feed with additives. /
geih! & T1Y H UIfyes HIs|
3. Fresh green grass. /
1ol g3 urg |

4. The feed should include roughages and concentrates in balanced amounts. /

HIsg & Hiel IRT SUfYd g1 98T 3R Afard A H 9% g1 et

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts. /

I T HieT IRT IURRd gIH1 a1eU SR Hgfard Am § |ig g1 anfg Ul

38) The intensity of the sound is related to:/

afy Bt e 39 a&fia 3



1. Amplitude / 3TITH

2. Frequency/&ﬂq%
3. Pitch /fﬁ%r

4, Wavelength /T‘R"Té?ﬁ

Correct Answer :-

o Amplitude / 3TOMH

39) For which liquid/fluid in the body are the below mentioned features applicable?
» Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.

IR # 59 ga/ava verd & frd - sfeafaa fatwang @ gid 82

. 39 TS § S gieang gid 7

. gerd o1 [T ©u # IRR & T 3 F gav YT o ugaman o g1
1. Blood / Iad

2. Water / 9Id

3. Sugar solution / I+t &1 O

4. Salt solution / TIGUT BT T

Correct Answer :-

o Water / oI

40) Rishi is open-minded but believes every theory put forward to him by his friends but
rejects theories of his teachers. This primarily shows a lack of: / By Eﬁ-ﬁ?ﬂﬁ Gl %
AfeT 98 ISP qal GRT SHS THe TW ¥ Rigia & Arar 8 afe oA gt &
Rrgial &) SRdieR a8 1 98 g F U A @t HHI B g=ITar 2

1. Respect for evidence / HI&J & f%‘l'q HHTT
2. Scepticism / GRIIAIG

3. Prejudice / qz:lfﬂ‘s'

4. Objectivity / fAsgeran

Correct Answer :-

. Objectivity / FST&T



41) The commonly found fish thatis a surface feeder is /

TG U § UTS 1 arelt aSdl oife U U8 SRS (Y Wis) &
1. Catla. / S ddl

2. Mrigals. / HITcdl
3. Rohu. /ﬂ_ﬁ'

4. Common carp. / 9H HTY

Correct Answer :-

o Catla./ddl

42) The electrical device used to measure the current through an electric circuit is: /
faggq ufvuy & areaw @ fagyq &t A & fore v ¥ @rn S+ aren fagga Susr g @:
1. Voltmeter / dlecHIeR

2. Electroscope / ﬁ?{ﬂﬂ_@?ﬁ

3. Ammeter / 3{THIC

4. Galvanometer / Tled-HIeR

Correct Answer :-

e Ammeter /31I1:1|E€

43) The electronic configuration of an element is 2,8,1. The number of electrons that
possess the least energy /

it 7 &1 s fa=uTd 2,8,1 81 T sAaeHl @t T& ford g=aw Sl gidl 8:
1.2

2.0
3.1

4.8

Correct Answer :-

44) CANCELLED

The effect of milk of magnesia on turmeric solution is: /

I & U WX AU & GY BT YU Tg Il 8:



1. Yellow colour of turmeric solution first changes to pink then becomes colourless /

Hd 1 P ged! o1 °9Iat Ugal el T H Sed Sl |, IaYTd STei- 8l ol g |
2. Yellow colour of turmeric solution changes to blue colour /

U TP geal BT 9 -idd T H 963 ol 5|
3. Yellow colour of turmeric solution changes to reddish brown colour /

a3 B el T Oied 1R 0 H Sl ST 8|
4. No effect /

PIs UHTG el |

Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

die 71 ) gt BT Ol YR 17 H g ST 8|

45) CANCELLED

Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
g a1 250Pa § A1 .08m2 B WAE TR HTUXA YUIIG B T Dr |
1. 200N

2.31.25N

3.3125N

4. 20N

Correct Answer :-

e 20N

46) Which of the following method will be ideal for laboratory work in a class of 50

students? / fAEfREad & @ &9 W fafdr 50 S arell v Ham & va=er & o1 &
forg szt g

1. All of the students work on the same equipment at the same time. / g B & B
T R U & JUDHR0 R B R g

2. Students are divided into groups and different experiments are performed by each

batch in a cyclic manner. / BT &1 THE! | fauTfora farar STar € iR Ud® o9 gRT U
I P I e v e 9 g

3. Students are divided into groups and the same experiment is performed by each batch.

/ B B! gHE! & i o o B 8iR udie 9 §RT T & UENT fobar Sira g



4. Only teacher demonstrates the experiment in front of the whole class. / PHad e g
T8 e & WA YT TefRid SR 7

Correct Answer :-

« Students are divided into groups and different experiments are performed by each

batch in a cyclic manner./mﬁﬂﬂ'@fﬁﬁlﬁmmw%ﬁmaﬂmw
Ip1g d8i § fafdrsr v fpe od §

47) Identify an atom with no neutrons from the following. /
fFrafafed & ¥ YT T WA $1 ugaH $¥1

1. Helium / giferad

2. Tritium / fefead

3. Protium / WI¢aH

4. Lithium / fetfmm

Correct Answer :-

« Protium /W<y

48) A small fire in the laboratory due to sodium can be put out by: / Tifsaq &
BRI TH TARTRITET | T a1ei]l T BIET Al ST B 9B §RT JHAT o IPHdl &

1. Using water / O o gRI
2. Using dry sand / W%ﬂ & GRT
3. Using moist soil / Tl ﬁ@%iﬂﬂ

4. Using CO, based extinguisher / CO, MTUTRA AMHS & IUANT GRI

Correct Answer :-

« Using dry sand / Wiﬁ & GRI

49) Collaborative learning approach develops which of the following skills in a

learner? / GgANTTH® ST edHIvr A Rrandf A Fufefad # 3 fog s o1
e garg?

1. Social and Academic skills / TTHTH GﬁT ﬁ&‘l'm ﬁw

2. Critical thinking skills / T8 fidd BIera




3. Relationship among concepts / SAYRUNSN & o e

4. Interpretational skills / SIRSTD HIA

Correct Answer :-

. Social and Academic skills / STHTI® 3‘?|T ?r&rlﬁ@ W

50) Identify the human practice that results in soil pollution. /

TR A fohaTaaTy e TR g1 Uguur T 8, 3991 Uga S|
1. Deforestation / GI=Ia |

2. Dumping of sewage into water bodies / 5d fA®™Il & Ad STeHI|
3. Use of large amounts of fertilizers and pesticides / S8 AT H Iab! 3R BICAIRID! BT SUTNT
4. Vehicular traffic / TR Uyl

Correct Answer :-

« Use of large amounts of fertilizers and pesticides / St AIET H 3d3e! 3R DlcAT=IR] BT ST

51) Name the animal or product which does not provide vitamin D. /
I U UT IUTE BT AW Fd1¢ ot fIe1ferq €1 uerH 98 sear g1

1. Fish / A&l |

2. Eggs / 33|

3. Pork / g3R BT A |

4. Cow’s milk / Y dT ¢¥Y |

Correct Answer :-

« Pork / 3R BT HY|

52) A student is able to fix a focal length measuring apparatus despite
notreading about it as a problem on his laboratory manual. This shows the
useof which dimension of the cognitive process? / Tdh BT Th Bipd aaré HIUA
& IUPIVT P SIp I | HeH g Slaidp 39 TR A3 WR TP THT & =9 §
TP a1 § T8 US| U8 UFHTIHS Ufhdr & fba mard & IuahT H) guiiar 82

1. Knowledge / 31

2. Applying / @Iﬂm

3. Evaluating / Hedldb] BRI




4. Creating / 0T BT

Correct Answer :-

- Applying / &Iﬁqtn"'[

53) Which of the following statements does NOT distinguish hypothesesfrom

theories in science? / fFufaRRad & ¥ &9 91 $Y, fag@ & Rrgial @ uReca-msi
P AT TS BT 82

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory
power. / TREHIATY STHAR TR SRR | 3(0ewmd Taivf gl §; Rigia & s
HRTHD f Bl 6|

2. Hypotheses and theories are essentially the same thing. / W 3R Rrgid
I U Y T & A B

3. Hypotheses are guesses; theories are widely accepted “correct’ answers./
GR&H IS A &; Rigid ud U ¥ el SR WHR (6T 91d g |

4. Theories are hypotheses that have been proved. / R1gI d IR&Heg g ol g
i

Correct Answer :-

- Hypotheses and theories are essentially the same thing. / WWT\@ 3R Rrgid
3 = U ¥ e g A B

54) Which of the following can provide a non-formal learning experience

tostud%ents? / Fafafea # @ <4 ol @ R-Nu=ive AR Sgyd e 7
Tl 8?2

1. Summer holiday written assignments / T Bt @_@tﬁ ¥ fagr o+ a1 ferfaa

2. Multiple choice question based test in class / D& | aﬁﬁwf[ Ty 3reTiRd
ERil

3. Science clubs / fa3H &Id
4. Conducting experiments in the laboratory / OORTRITET H ST &l e

Correct Answer :-

« Science clubs / ﬁ?ﬂq ad



55) <Child-centred’ pedagogy means: / ‘STd-bi-sd’ RITRIRA &7 3 8:

1. Teacher dictating the children what should be done / fRrere gl &Y 3R <d % o
1 fbar ST =1is Ul

2. The teacher leading the learning in the classroom / fRrerp e | SffoH o 3ot

YftreT AuTaT g |

3. Children are active participants in their own education and development / eS|

3T e iR fawrg o iy wrfier Ay 21

4. Children follow a prescribed information / CE| Uh FUid STHHRT &1 ure
A G|

Correct Answer :-

« Children are active participants in their own education and development / CE|

3ot e SR fasra & wiorg wrfier v €1
56) Burning sensation in stomachisdueto____ ./ Uc # Sl BT BRI - %:
1. Indigestion / 3{UT<-
2. thirst / WY
3. digestion / UTdH
4. Hunger / 9

Correct Answer :-

« Indigestion / 3Uld

57) What is the natural habitat of Cactus?/
P BT UTPIaD T T 82

1. desert / XA

2. clayey land / gfIoT YfH

3. Water / ol

4. Land / 3;[&[

Correct Answer :-

o desert/ IR



58) Which of the following statements does not follow the scientific method? /

frafeafad & @ o9 91 FYF e ugfa &1 ure 8] ST 82

1. Da Vinci’s art should be costlier than Michelangelo’s art. / Gl fdt &t e
AIghadoiel Bl Hell J Tl gl ANl

2. The heliocentric model should replace the geocentric model of the solar system. /
T ot Rigid (@feraif< e Afed) &I R Ul & Y-Alsd &l Ufawitiid
61 =T

3. Einstein’s theory of relativity triumphs over Newton’s theory of gravitation. /

TSR & FTUedl & RIGId, e & Teai®yul & Rgid W oo e #vd
&l

4. Photosynthesis produces more oxygen than respiration. / UhIR] WWUT, 4T
311 SIS BT IUTE AT 5|

Correct Answer :-

. Da Vinci’s art should be costlier than Michelangelo’s art. / I fd=dt 1 et

ARG AUl bl Hdl J HgIN gHT AT |

59) Identify the substance which can be easily compressed by applying pressure on it. /

Sd1d STADR I I AHiad fhd A1 Fp= arat uerd & uga w3
1. Ice. / S

2. Carbon dioxide gas. / BT SIS T

3. Sugar crystals. / TTHRT hd

4. Water. / SIdd

Correct Answer :-

« Carbon dioxide gas. / PHTe 3133{\@133 bIE:|

60) Which of the following is not an example of ICT resources? / TUfeIad A oA
TSI HATLH] BT TP IAMERV el &2

1. Social networking website / AT Aeafd aw

2. Science blog / ﬁfﬂq OTQ'I'T"T

3. Science magazine / ﬁs'ﬂ:f Uﬁw

4. Podcast / UTSBHRE



Correct Answer :-

« Science magazine ACEIRRCIECT




